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B.Com. (CS) DEGREE EXAMINATION, APRIL 2024 

First Semester 

Corporate Secretaryship 

PRINCIPLES OF MANAGEMENT 

(CBCS – 2022 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer ALL questions. 

1. Write any two major objectives of Management. 

 ÷©»õsø©°ß H÷uÝ® Cμsk •UQ¯ ÷|õUP[PøÍ 
GÊxP. 

2. Write any two difference between Administration and 
Management. 

 {ºÁõPzvØS® ÷©»õsø©US® Cøh÷¯ H÷uÝ® C¸ 
÷ÁÖ£õmøh GÊuÄ®. 

3. Define Decision Making. 

 •iöÁk¨£øu Áøμ¯ÖUPÄ®. 

4. What are the types of plan? 

 vmhzvß ÁøPPÒ GßÚ? 

5. What are the principles of organising? 

 JÊ[ø©¨£uØPõÚ öPõÒøPPÒ GßÚ? 
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6. Define Centralisation. 

 ø©¯¨£kzuø» Áøμ¯ÖUPÄ®. 

7. Define Leadership. 

 uø»ø©zxÁzøu Áøμ¯ÖUPÄ®. 

8. Define Coordination. 

 J¸[Qøn¨ø£ Áøμ¯ÖUPÄ® 

9. What is ethics business? 

 ÁoPzvß ö|Ô•øÓPÒ GßÓõÀ GßÚ? 

10. What is social responsibility of business? 

 ÁoPzvß \‰P¨ ö£õÖ¨¦ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer ALL questions, Choosing either (a) or (b). 

11. (a) Examine the nature and scope of management. 

  ÷©»õsø©°ß ußø© ©ØÖ® ÷|õUPzøu 
Bμõ²[PÒ. 

Or 

 (b) Explain the functions of Management. 

  ÷©»õsø©°ß ö\¯À£õkPøÍ ÂÍUS[PÒ. 

12. (a) Explain the importance of Planning. 

  vmhªh¼ß •UQ¯zxÁzøu ÂÍUS[PÒ. 

Or 

 (b) What are the advantages of planning? 

  vmhªku¼ß |ßø©PÒ GßÚ? 
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13. (a) Discuss about span of management. 
  {ºÁõPzvß Põ»® £ØÔ ÂÁõvUPÄ®. 

Or 

 (b) Enumerate the principles of organising. 
  KÊ[Pø©¨£uØPõÚ öPõÒøPPøÍ £mi¯¼hÄ®. 

14. (a) Explain the importance of communication. 
  uPÁÀ öuõhº¦ •UQ¯zxÁzøu ÂÍUS[PÒ 

Or 

 (b) What are the types of Motivation? 
  E¢xuÀ ÁøPPÒ GßÚ? 

15.  (a) Define Control. Explain the steps involved in the 
control process. 

  Pmk¨£õmøh Áøμ¯ÖUPÄ®. Pmk¨£õmk 
ö\¯À£õmiÀ EÒÍ £iPøÍ ÂÍUSP.  

Or 

 (b) What type of ethics to be followed in the business 
concern? Explain. 

  ÁoP AUPøÓ°À GßÚ ÁøP¯õÚ ö|Ô•øÓPøÍ¨ 
¤ß£ØÓ ÷Ásk®? ÂÍUSP. 

 Part C  (3 × 10 = 30) 

Answer any THREE questions. 

16. Discuss Henry fayol’s principles of Management. 

 ÷©»õsø©°À öíßÔ L£÷¯õÂß öPõÒøPPøÍ¨ £ØÔ 
ÂÁõvUP. 

17. Briefly explain the process of planning. List the 
advantages and disadvantages of planning. 

 vmhªhÀ ö\¯À•øÓø¯ _¸UP©õP ÂÍUS. 
vmhªku¼ß |ßø©PÒ ©ØÖ® wø©PøÍ £mi¯¼kP. 
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18. Explain the techniques of organising. 

 KÊ[S£kzx® ~m£[PøÍ ÂÍUSP. 

19. Discuss in detail any two theories of leadership. 

 uø»ø©zxÁzvß Cμsk ÷Põm£õkPøÍ Â›ÁõP 
ÂÁõvUP. 

20. Discuss about control techniques. 

 Pmk¨£õmk ~m£[PøÍ¨ £ØÔ ÂÁõvUP. 
 

———————— 
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B.Com. (CS) DEGREE EXAMINATION, APRIL 2024 

First Semester 

Corporate Secretaryship 

FINANCIAL ACCOUNTING – I  

(CBCS – 2022 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Define Book-keeping. 
 PnUS¨ £vÂ¯À – Áøμ¯Ö. 

2. What are the two systems of Accounting? 
 PnUQ¯¼ß Cμsk Aø©¨¦PÒ GßÚ? 

3. What is accounting error? 
 PnUQ¯À ¤øÇ GßÓõÀ GßÚ? 

4. Define the term Final Accounting. 
 CÖvPnUQ¯À GßÓ ö\õÀø» Áøμ¯ÖUPÄ®. 

5. Give the meaning of bill of exchange. 
 ©õØÖa ^miß ö£õ¸øÍU öPõk[PÒ. 

6. What is an accommodation bill? 
 PhÝuÂ Esi¯À GßÓõÀ GßÚ? 

7. What is Receipt and Payment account? 
 μ^x ©ØÖ® öPõk¨£ÚÄ PnUS GßÓõÀ GßÚ? 
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8. Write a note on consignment. 
 \μUS «x J¸ SÔ¨ø£ GÊx[PÒ. 

9. What do understand by the joint ventures? 
 Tmk •¯Ø]PÒ }[PÒ GßÚ ¦›¢x öPõsjºPÒ? 

10. What is sale or return?  
 ÂØ£øÚ AÀ»x Á¸Áõ´ GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all the questions choosing either (a) or (b). 

11. (a) Journalise the following 

(i) Purchased good worth Rs. 5,000 less 20% 
trade discount and 5% cash discount 

(ii) Withdrew Rs. 500 from bank for personal use 

(iii) Rs. 2,646 received from Anand in full 
settlement of Rs. 2,700 

(iv) Bought furniture for Rs. 5,000 from ABC Ltd 

(v) Goods worth Rs. 1,000 found defect were 
returned to Raj & Co. 

  ¤ßÁ¸ÁÚÁØøÓU SÔ¨÷£miÀ £vÄ ö\´¯Ä®  

  (i) ¹. 5,000 ©v¨¦ÒÍ ö£õ¸mPÒ Áõ[P¨£mhx 
20% ÁoPz uÒÐ£i ©ØÖ® 5% öμõUP 
uÒÐ£i²hß 

  (ii) uÛ¨£mh £¯ß£õmiØPõP Á[Q°À C¸¢x  
¹. 500 Gkzuõº  

  (iii) BÚ¢vh® C¸¢x ¹. 2,646 •Êz öuõøP  
¹. 2,700 AøhÁõP ö£Ó¨£mhx 

  (iv) H¤] ¼ªöhm {ÖÁÚzvhª¸¢x ¹. 5,000US 
AøÓUP»ßPÒ Áõ[P¨£mhx  

  (v) ¹. 1,000 ©v¨¦ÒÍ ö£õ¸mPÒ SøÓ£õkPÒ 
C¸¨£uõPU PshÔ¯¨£mk μõä & ÷Põ ÂØS 
v¸¨¤ AÝ¨£¨£mhÚ. 

Or 
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 (b) From the following particulars of Mr. Suresh 

prepare a Bank Reconciliation Statement as on 

31.12.2005. 

(i) Balance as per Cash Book on 31.12.2005 was 

Rs. 1,500 

(ii) Cheques for Rs. 6,000 issued were deposited 

on 25th December but collected in January 

2006 

(iii) Cheques for Rs. 3,000 were issued in 

December out of which only cheques for  

Rs. 2,000 were presented for payment in 

December 2005 

(iv) Banker has debited bank charges of Rs. 200 

for which no entry has been made in cash 

book. 

  31.12.2005 AßÖ v¸. _÷μè AÁºPÎß ¤ßÁ¸® 
SÔ¨¤¼¸¢x Á[Q \©μ\ AÔUøPø¯z u¯õ›UPÄ®. 

(i) 31.12.2005 AßÖ £n¨ ¦zuPzvß £i C¸¨¦ 

¹. 1,500 

(ii) ¹. 6,000UPõÚ Põ÷\õø»PÒ i\®£º 25 AßÖ 

öh£õ]m ö\´¯¨£mhÚ, BÚõÀ áÚÁ› 2006 
CÀ ÷\P›UP¨£mhÚ 

(iii) Põ÷\õø»PÒ ¹. 3,000 i\®£›À 

ÁÇ[P¨£mhx, AvÀ ¹. 2,000 UPõÚ 
Põ÷\õø»PÒ ©mk÷© i\®£º 2005 CÀ 

ö\¾zxÁuØPõP ÁÇ[P¨£mhÚ 

(iv) Á[QU Pmhn® ¹. 200 £n¨ ¦zuPzvÀ G¢u 

£vÄ® ö\´¯¨£hÂÀø». 
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12. (a) Rectify the following Errors: 

(i) Purchase book is overcast by Rs. 500 (for the 
month of January) 

(ii) Sales book has been under cast by Rs. 300 

(iii) Purchase returns book has been overcast by 
Rs. 50 

(iv) Sales return book has been under cast by  
Rs. 75. 

  ¤ßÁ¸® ¤øÇPøÍ \› ö\´¯Ä®  

  (i) öPõÒ•uÀ ¦zuPzvÀ ªøP©v¨¥k ¹. 500 
(áÚÁ› ©õu®) 

   (ii) ÂØ£øÚU SÔ¨÷£k ¹. 300 SøÓzx 
©v¨¤mkÒÍx 

   (iii) öPõÒ•uÀ ¦zuP® ¹. 50 ªøP©v¨¥k 
ö\´¯¨£mkÒÍx 

   (iv) ÂØ£øÚ v¸¨£¨ ¦zuP® ¹. 75 SøÓzx 
©v¨¤mkÒÍx. 

Or 

 (b) What are the objectives of Final accounting? 

  CÖv PnUQ¯¼ß ÷|õUP[PÒ GßÚ? 

13. (a) Discuss the advantages of a bill of exchange. 

  ©õØÖa ^miß |ßø©PøÍ ÂÁõvUPÄ®. 

Or 

 (b) Distinguish between Trade bill and Accommodation 
bill. 

  ÁºzuP Esi¯À ©ØÖ® PhÝuÂ Esi¯À 
÷ÁÖ£kzx[PÒ. 
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14. (a) From the following information show how would 
you deal the Income and Expenditure account while 
preparing Balance Sheet of the year ended 
31.03.2006  

 Rs. 

Subscription received during the year 31.03.06 12,000

Subscription receivable for 31.03.05 400

Subscription received in advance during the 
year 31.03.2005 

600

Subscription received in advance during the 
year 30.03.2006 

800

Subscription receivable for 31.03.2006 750

  31.03.2006 CÀ •iÁøh¢u BsiØPõÚ Á¸©õÚ® 
©ØÖ® ö\»ÂÚ PnUQøÚ C¸¨¦{ø»z uõøÍz 
u¯õ›US® ÷£õx }[PÒ GÆÁõÖ øP¯õÒÃºPÒ 
Gß£øu ¤ßÁ¸® uPÁ¼¼¸¢x PõmhÄ®. 

 ¹. 

31.03.06 B® BsiÀ \¢uõ ö£Ó¨£mhx 12,000

31.03.05 UPõÚ \¢uõ ö£ÓzuUPx 400

31.03.2005 CÀ •ßTmi÷¯ \¢uõ ö£Ó¨£mhx 600

30.03.2006 CÀ •ßTmi÷¯ \¢uõ ö£Ó¨£mhx 800

31.03.2006 UPõÚ \¢uõ ö£Ó¨£mhx 750

Or 

 (b) What are the accounts to be maintained under 
consignment account? 

  \μUSU PnUQß RÌ £μõ©›UP¨£h ÷Ási¯ 
PnUSPÒ ¯õøÁ? 
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15.  (a) What are the characteristics of a joint venture? 
  Tmk •¯Ø]°ß £s¦PÒ GßÚ? 

Or 

 (b) State the features of Insurance Claim. 
  Põ¨¥mk ÷Põ›UøP°ß A®\[PøÍU SÔ¨¤hÄ®. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Explain the accounting convention in detail. 
 PnUQ¯À ©μ¦PøÍ Â›ÁõP ÂÍUS[PÒ. 

17. From the following data, prepare a profit and loss account 
and a balance sheet as on 31.03.2007  

Particulars Rs. Particulars Rs. 

Drawings 10,000 Capital 30,000

Purchases 30,000 Purchase returns 1,000

Sales Returns 5,000 Sales 60,000

Carriage inwards 2,000 Wage outstanding 2,000

Carriage outwards 3,000 Rent received 1,000

Depreciation on 
plant 

4,000 Reserve for doubtful 
debts 

1,000

Plant 20,000 Interest 5,000

Salaries and 
wages 

3,000 Sundry creditors 6,000

Bad debts 2,000 Loans 38,000

Premises 20,000   

Interest 5,000   

Stock 1.4.2006 25,000   

Sundry debtors 15,000   

 1,44,000  1,44,000
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 Adjustments:  

 (a) Stock on 31.03.2007 was Rs. 40,000. A fire broke out 
in the godown and destroyed stock worth Rs. 5,000. 
Insurance company had accepted the claim in full. 

 (b) Provide for bad debts @10% and provide for discount 
on debtors @5% and on creditors - @10% 

 (c) Depreciate buildings at the rate of 15% pa. 

 (d) Rent outstanding amounted to Rs. 1,000 

 (e) Closing stock includes samples worth of Rs. 2,000 

 (f) Provide interest on drawings @10% and on  
capital - @10%. 

 ¤ßÁ¸® uμÄPÎ¼¸¢x, 31.03.2007 AßÖ C»õ£ |mhU 
PnUS ©ØÖ® C¸¨¦{ø»U SÔ¨ø£z u¯õ›UPÄ®. 

Â£μ[PÒ ¹. Â£μ[PÒ ¹. 

Áøμ£h[PÒ 10,000 ‰»uÚ® 30,000
öPõÒ•uÀ 30,000 öPõÒ•uÀ Á¸©õÚ® 1,000
ÂØ£øÚ 
Á¸©õÚ® 

5,000 ÂØ£øÚ 60,000

Ási EÒ÷|õUQ 2,000 T¼ {¾øÁ 2,000
AÝ¨¦z yUSU 
T¼ 

3,000 ÁõhøP Qøhzux 1,000

Bø»°ß 
÷u´©õÚ® 

4,000 \¢÷uPzvØS›¯ 
PhßPÐUPõÚ C¸¨¦ 

1,000

Bø» 20,000 Ámi 5,000
\®£Í® ©ØÖ® 
Fv¯® 

3,000 ]À»øÓU 
PhßÁμÁõÍºPÒ 

6,000

ÁõμõU Phß 2,000 Phß 38,000
ÁÍõP® 20,000   
Ámi 5,000   

1.4.2006 C¸¨¦ 25,000   

]À»øÓU 
Phß£ØÓõÎPÒ 

15,000   

 1,44,000  1,44,000
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 \›ö\´uÀ:  

 (A) 31.03.2007 AßÖ øP°¸¨¦ ¹. 40,000. S÷hõÛÀ 
w¨ ¤izuvÀ ¹. 5,000 ©v¨¦ÒÍ C¸¨¦ 
AÈUP¨£mhx. Põ¨¥mk {ÖÁÚ® ÷Põ›UøPø¯ 
•Êø©¯õP HØÖU öPõshx 

 (B) ÁõμõU PhßPøÍ @10% ÁÇ[PÄ® ©ØÖ® 

PhÚõÎPÐUS @5% ©ØÖ® PhÚõÎPÐUS & @10% 
uÒÐ£i ÁÇ[PÄ®. 

 (C) Pmih[PÒ «uõÚ ÷u´©õÚ® BsiØS 15% Ãu® 

 (D) ÁõhøP {¾øÁ ¹. 1,000 

 (E) CÖvU øP°¸¨¦ ©õv›PÐhß ¹. 2,000 

 (F) Gk¨¦PÒ «x @10% ©ØÖ® ‰»uÚzvß «x @10% 
Ámi ÁÇ[PÄ®. 

18. Explain the kinds of Bills. 

 ¤ÀPÎß ÁøPPøÍ ÂÍUPÄ®. 

19. Following is the Receipt and Payment Account of Indian 
Sports Club for the year ended 31.3.2014: 

Receipts Rs. Payments Rs. 

Balance c/d 10,000 Salary 15,000

Subscriptions 52,000 Billiard Table 20,000

Entrance Fee 5,000 Office expenses 6,000

Tournament 
Fund 

26,000 Tournament 
expenses 

31,000

Sale of old 
newspapers 

1,000 Sports 
Equipment 

40,000

Legacy 37,000 Balance c/d 19,000

 1,31,000  1,31,000
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 Other Information:  

 On 31.3.2014 Subscription outstanding was Rs. 2,000 and 

on 31.3.2013 Subscription outstanding was Rs. 3,000; 

Salary outstanding on 31.3.2014 was Rs. 1,500. 

 On 1.4.2013 the Club had building Rs. 75,000; furniture 

Rs. 18,000; 12% investment Rs. 30,000 and sports 

equipment Rs. 30,000. Depreciation charged on these 

items including Billiard Table was 10%. 

 Prepare Income and Expenditure Account of the Club for 

the year ended 31.3.2014 and a Balance Sheet as at that 

date. 

 C¢v¯ß ÂøÍ¯õmk PÇPzvß 31.3.2014 AßÖ 

•iÁøh¢u Bsiß Á¸Áõ´ ©ØÖ® ö\¾zuÀ PnUS 

R÷Ç EÒÍx: 

ö£ÖuÀPÒ ¹. ö\¾zxuÀPÒ ¹. 

C¸¨¦ R/öPõ 10,000 Fv¯® 15,000

\¢uõUPÒ 52,000 ¤À¼¯õºm ÷©ø\ 20,000

~øÇÄU Pmhn® 5,000 A¾Á»P 

ö\»ÄPÒ 
6,000

SÊ¨÷£õmi {v 26,000 SÊ¨÷£õmi 

ö\»ÄPÒ 
31,000

£øÇ¯ ö\´vzuõÒ 

ÂØÓx 
1,000 ÂøÍ¯õmk 

E£Pμn[PÒ 
40,000

Â¸¨¦›ø©U 

öPõøh 
37,000 C¸¨¦ G/ö\ 19,000

 1,31,000  1,31,000
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 TkuÀ uPÁÀPÒ:  

 31.3.2014 AßøÓ¯ \¢uõ {¾øÁz öuõøP ¹. 2,000 

©ØÖ® 31.3.2013 AßøÓ¯ \¢uõ {¾øÁz öuõøP  

¸. 3,000, 31.3.2014 AßÖ \®£Í {¾øÁ öuõøP  

¹. 1,500.  

 1.4.2013 AßÖ PÇPzvh® Pmih® ¹. 75,000, AøÓP»ß 

¹. 18,000, 12% •u½miÀ ¹. 30,000 ©ØÖ® ÂøÍ¯õmk 

E£Pμn[PÒ ¹. 30,000. ¤À¼¯õm ÷©ø\ Em£h C¢u 

ö£õ¸mPÐUS ÂvUP¨£mh ÷u´©õÚ® 10% BS®.  

 PÇPzvß 31.3.2014 AßÖ C»õ£ |mhUPnUS ©ØÖ® 

C¸¨¦{ø»U SÔ¨ø£z u¯õ›UPÄ®. 

20. Describe the methods of recording transactions relating 

to join venture. 

 Tmk •¯Ø] öuõhº£õÚ £›ÁºzuøÚPøÍ £vÄö\´²® 

•øÓPøÍ ÂÁ›UPÄ®. 

———————— 
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U.G. DEGREE EXAMINATION, APRIL 2024 

Corporate Secretaryship 

Allied – TOURISM MARKETING 

(CBCS – 2022 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all the questions. 

1. Define tourism. 
 _ØÖ»õ & Áøμ¯ÖUPÄ® 

2. Name two common motives for tourism. 
 _ØÖ»õÄUPõÚ Cμsk ö£õxÁõÚ ÷|õUP[PøÍU 

SÔ¨¤hÄ®. 

3. Define tourism product strategy. 
 _ØÖ»õ¨ ö£õ¸Ò Ezv & Áøμ¯ÖUPÄ®. 

4. List the main reasons for product failure in tourism. 
 _ØÖ»õÂÀ ö£õ¸Ò ÷uõÀÂUPõÚ •UQ¯ Põμn[PøÍ 

£mi¯¼kP. 

5. Define tourism pricing strategy. 
 _ØÖ»õ Âø» {ºn¯ Ezv & Áøμ¯ÖUPÄ®.  

6. What is a pricing objective? 
 Âø» C»US GßÓõÀ GßÚ? 

7. Define tourism distribution strategy. 
 _ØÖ»õ Â{÷¯õP Ezv & Áøμ¯ÖUPÄ®. 
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8. Name two factors that can influence tourism distribution. 
 _ØÖ»õ Â{÷¯õPzøu £õvUPU Ti¯ Cμsk PõμoPøÍU 

SÔ¨¤hÄ®. 

9. Define tourism promotion strategy. 
 _ØÖ»õ A¤Â¸zv Ezv & Áøμ¯ÖUPÄ®. 

10. Name two skills needed for effective selling in the 
tourism industry. 

 _ØÖ»õzxøÓ°À £¯ÝÒÍ ÂØ£øÚUSz ÷uøÁ¯õÚ 
Cμsk vÓßPøÍU SÔ¨¤hÄ®. 

 Part B  (5 × 5 = 25) 

Answer all the questions choosing either (a) or (b). 

11. (a) Explain three different types of tourism and give an 
example of each. 

  ‰ßÖ Âu©õÚ _ØÖ»õ ÁøPPøÍ ÂÍUQ 
JÆöÁõßÔØS® Euõμn® öPõkUPÄ®. 

Or 

 (b) Why is it important for tourism marketers to 
understand tourist behavior and motives? Give two 
reasons. 

  _ØÖ»õ ÂØ£øÚ¯õÍºPÒ _ØÖ»õ |hzøu ©ØÖ® 
÷|õUP[PøÍ¨ ¦›¢x öPõÒÁx Hß •UQ¯®?  
Cμsk Põμn[PøÍU TÓÄ®. 

12. (a) Explain the stages of the product life cycle and give 
an example of a tourism product in each stage. 

  ö£õ¸Ò ÁõÌUøPa _ÇØ]°ß {ø»PøÍ ÂÍUQ, 
JÆöÁõ¸ Pmhzv¾® _ØÖ»õ ö£õ¸ÒPÐUPõÚ 
EuõμnzøuU öPõkUPÄ®. 

Or 

 (b) What are the advantages and disadvantages of 
package tours for both tourists and tourism 
businesses? 

  _ØÖ»õ¨ £¯oPÒ ©ØÖ® _ØÖ»õ ÁoP[PÐUS 
÷£U÷Pä lºPÎß |ßø©PÒ ©ØÖ® wø©PÒ GßÚ? 
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13. (a) Explain the different factors that can influence 
tourism pricing. 

  _ØÖ»õ Âø»ø¯ £õvUPU Ti¯ £À÷ÁÖ 
PõμoPøÍ ÂÍUSP. 

Or 

 (b) Describe three different pricing policies that call be 
used in tourism. 

  _ØÖ»õÂÀ £¯ß£kzuU Ti¯ ‰ßÖ öÁÆ÷ÁÖ 
Âø»U öPõÒøPPøÍ ÂÁ›UPÄ®. 

14. (a) Explain the different factors that can influence 
tourism distribution. 

  _ØÖ»õ Â{÷¯õPzøu £õvUS® £À÷ÁÖ PõμoPøÍ 
ÂÍUSP. 

Or 

 (b) Describe the functions of travel agents in the 
tourism industry. 

  _ØÖ»õz xøÓ°À £¯n •PÁºPÎß 
ö\¯À£õkPøÍ ÂÁ›UPÄ®. 

15.  (a) Explain the different elements of the tourism 
promotion mix. 

  _ØÖ»õ FUSÂ¨¦ P»øÁ°ß £À÷ÁÖ TÖPøÍ 
ÂÍUSP. 

Or 

 (b) Describe the role of advertising agencies in tourism 
promotions. 

  _ØÖ»õ ÷©®£õkPÎÀ ÂÍ®£μ •Pø©¯›ß £[øP 
ÂÁ›UPÄ®. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Discuss the role of tourism in economic development. 
Give three examples of how tourism can contribute to the 
economic growth of a destination. 

 ö£õ¸Íõuõμ ÁÍºa]°À _ØÖ»õÂß £[øP¨ £ØÔ 
ÂÁõvUPÄ®.  J¸ Chzvß ö£õ¸Íõuõμ ÁÍºa]US 
_ØÖ»õ GÆÁõÖ £[PÎUQÓx Gß£uØS ‰ßÖ 
Euõμn[PøÍU öPõkUPÄ®. 
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17. Explain the importance of product development in 
tourism. What are the steps involved in developing a new 
tourism product? 

 _ØÖ»õÂÀ ö£õ¸Ò ÁÍºa]°ß •UQ¯zxÁzøu¨ £ØÔ 
ÂÍUPÄ®, J¸ ¦v¯ _ØÖ»õ ö£õ¸Ò E¸ÁõUSÁuØS 
GßÚ £iPÒ EÒÍÚ? 

18. Discuss in detail the importance of pricing strategy in 
tourism. What are the key factors that should be 
considered when setting prices for tourism products? 

 _ØÖ»õÂÀ Âø» {ºn¯ Ezv°ß •UQ¯zxÁzøu¨ 
£ØÔ ÂÁõvUPÄ®.  _ØÖ»õ ö£õ¸Ò Âø» {ºn¯® 
ö\´²® ÷£õx P¸zvÀ öPõÒÍ ÷Ási¯ •UQ¯ 
PõμoPÒ ¯õøÁ? 

19. Elaborate on the importance of distribution strategy in 
tourism. What are the key factors that should be 
considered when developing a distribution strategy for 
tourism products? 

 _ØÖ»õÂÀ Â{÷¯õP Ezv°ß •UQ¯zxÁzøu¨ £ØÔ 
ÂÁ›UPÄ®.  _ØÖ»õ ö£õ¸mPÐUPõÚ Â{÷¯õP Ezvø¯ 
E¸ÁõUS® ÷£õx P¸zvÀ öPõÒÍ ÷Ási¯ •UQ¯ 
PõμoPÒ ¯õøÁ? 

20. Discuss the importance of personal selling in the tourism 
industry. What are the key skills needed for effective 
personal selling in the tourism industry? How can 
tourism businesses effectively train their sales staff to 
improve their selling skills? 

 _ØÖ»õzxøÓ°À uÛ¨£mh ÂØ£øÚ°ß 
•UQ¯zxÁzøu¨ £ØÔ ÂÁõvUPÄ®.  _ØÖ»õzxøÓ°À 
£¯ÝÒÍ uÛ¨£mh ÂØ£øÚUSz ÷uøÁ¯õÚ •UQ¯ 
vÓßPÒ GßÚ?  _ØÖ»õ ÁoP[PÒ u[PÒ ÂØ£øÚz 
vÓøÚ ÷©®£kzu u[PÒ ÂØ£øÚ FÈ¯ºPÐUS 
GÆÁõÖ vÓ®£h £°Ø] AÎUP •i²®? 

  
———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Define Single Entry. 

 JØøÓ¨ £vÄ •øÓ°øÚ Áøμ¯ÖUPÄ®. 

2. What is Conversion method? 

 ©õØÖ® •øÓ GßÓõÀ GßÚ? 

3. Write any two objectives of Branch accounts. 

 QøÍU PnUSPÎß H÷uÝ® Cμsk ÷|õUP[PøÍ 
GÊuÄ®. 

4. What is a ‘Department’? Explain with example. 

 ‘xøÓ’ GßÓõÀ GßÚ? Euõμnzxhß ÂÍUPÄ®. 

5. What is depreciation? 

 ÷u´©õÚ® GßÓõÀ GßÚ? 

6. Write a short note on Fixed installment method. 

 {ø»¯õÚ uÁøn •øÓ £ØÔ J¸ ]Ö SÔ¨ø£ GÊuÄ®. 
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7. Who is a Hire vendor? 
 ÁõhøP ÂØ£øÚ¯õÍº ¯õº? 

8. What is Repossession of stock? 
 £[SPøÍ v¸®£¨ ö£ÖuÀ GßÓõÀ GßÚ? 

9. What are the advantages of converting to IFRS? 

 IFRS US ©õØÖÁuß |ßø©PÒ GßÚ? 

10. What is AS 16? 

 AS 16 GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) What are the Salient features of single entry 
system? Explain it. 

  JØøÓ¨ £vÄ •øÓ°ß •UQ¯ A®\[PÒ GßÚ? 
ÂÁ›UP. 

Or 

 (b) Mr. Siva maintains his books on single entry 
system. He gives you the following information. 

  Capital as on 1.1.2021 – Rs.3,20,000 

  Capital as on 1.1.2022 – Rs.3,60,000 

  Drawings during the year 2021 – Rs.1,00,000 

  Capital introduced on September 2021 –Rs.60,000 

  You are required to calculate Profit and loss made 
by Mr. Siva during 2021. 

  v¸. ]Áõ uÚx ¦zuP[PøÍ JØøÓ¨ £vÄ •øÓ°À 
£μõ©›zx Á¸QÓõº. AÁ¸øh¯ uPÁÀPÒ 
¤ßÁ¸©õÖ 

  1.1.2021 AßÖ •uÀ&¹.3,20,000 

  1.1.2022 AßÖ •uÀ&¹.3,60,000 

  2021 B® Bsiß Gk¨¦PÒ&¹.1,00,000 

  ö\¨h®£º 2021 CÀ AÔ•P¨£kzu¨£mh 
•uÀ&¹.60,000 

  2021 À v¸. ]Áõ ö\´u C»õ£ |mh öuõøPø¯ 
PnUQhÄ®. 
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12. (a) What are the differences between branch and 
departmental accounts. 

  QøÍ PnUQØS® ©ØÖ® xøÓÁõ›U PnUSPÐUS® 
Cøh÷¯²ÒÍ ÷ÁÖ£õkPÒ ¯õøÁ?   

Or 

 (b) Mani Tech company opened a branch at Bangalore 
on 1.1.2020. From the following particulars prepare 
the Branch account for the years 2020 and 2021. 

Particulars 2020 
Rs. 

2021 
Rs. 

Goods sent to Bangalore Branch 1,50,000 4,50,000
Cash sent to Branch for:   
Rent 18,000 18,000 
Salaries 30,000 50,000 
Other expenses 12,000 16,000 
Cash received from the branch 2,40,000 6,00,000
Stock on 31st December 23,000 58,000 
Petty cash in hand on 31st December 400 300 

  ©o öhU {ÖÁÚ® 1.1.2020 AßÖ ö£[PÑ›À J¸ 
QøÍø¯U vÓ¢ux. RÌPõq® Â£μ[PøÍU öPõsk 
2020 ©ØÖ® 2021 BskPÐUPõÚ QøÍU 
PnUQøÚz u¯õ›UPÄ®. 

ÂÁμ[PÒ 2020 
¹. 

2021 
¹. 

ö£[PÑº QøÍUS AÝ¨£¨£mh 
ö£õ¸mPÒ 

1,50,000 4,50,000

QøÍUS £n® AÝ¨£¨£mh 

ÂÁμ[PÒ: 
  

ÁõhøP 18,000 18,000 
\®£Í® 30,000 50,000 
Cuμ ö\»ÄPÒ 12,000 16,000 
QøÍ°¼¸¢x ö£Ó¨£mh £n® 2,40,000 6,00,000
i\®£º 31 AßÖ \μUQ¸¨¦ 23,000 58,000 
i\®£º 31&® ÷uv ]À»øμ öμõUP® 400 300 
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13. (a) What are the special features of depreciation? 

  ÷u´©õÚzvß ]Ó¨¦ A®\[PÒ ¯õøÁ? 

Or 

 (b) A Company purchased a machine for Rs.30,000. The 
life time of machinery is estimated as 6 years. The 
scrap value of machine is Rs.3,000. Calculate 
amount and rate of depreciation. 

  J¸ {ÖÁÚ® ¹.30,000&US J¸ C¯¢vμzøu 
Áõ[Q¯x. C¯¢vμzvß B²mPõ»® 6 BskPÒ 
GÚ ©v¨¤h¨£mkÒÍx. C¯¢vμzvß PÈÄ ©v¨¦ 
¹.3,000 BS®. ÷u´©õÚ öuõøP ©ØÖ® ÷u´©õÚ 
ÂQuzvøÚU PnUQkP. 

14. (a) What is instalment purchase system? What are its 
characteristics? 

  uÁøn •øÓ öPõÒ•uÀ •øÓ GßÓõÀ GßÚ? 
Auß £s¦PÒ ¯õøÁ? 

Or 

 (b) Z purchased a computer on hire purchase system. 
He agreed to pay to Rs.8,000 down, Rs.4,000 at the 
end of the 1st year; Rs.3,000 at the end of the second 
year and Rs.7,000 at the end of the third year. 
Interest is charges at 5% p.a. Calculate total cash 
price of the computer and interest paid with each 
instalment. 

  Z J¸ PoÛø¯ ÁõhøP öPõÒ•uÀ •øÓ°À 
Áõ[QÚõº. J¨£¢u® øPö¯ÊzuõÚÄhß ¹.8,000 
ö\¾zxQÓõº. ¹.4,000 •u»õ® Bsiß •iÂ¾®, 
¹.3,000 Cμshõ® Bsk •iÂ¾® ©ØÖ® ‰ßÓõ® 
Bsk ¹.7,000 ö\¾zxQÓõº. Bsk C¸¨¦PÎÀ 
5% Ámi ÂØ£øÚ¯õÍº PnUQkQÓõº. PoÛ°ß 
öμõUP Âø»ø¯²® ©ØÖ® JÆöÁõ¸ Bsiß 
ö\¾zu¨£k® Ámiø¯²® PnUQkP. 
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15.  (a) Define IFRS, its utility and major challenges in 
implementation of IFRS in Indian content. 

  IFRS&ß £¯ß£õk ©ØÖ® C¢v¯ EÒÍhUPzvÀ 

IFRS&I ö\¯À£kzxÁvÀ EÒÍ •UQ¯ \ÁõÀPøÍ 
Áøμ¯ÖUPÄ®. 

Or 

 (b) Explain the contents of interim financial statements 
as per Ind AS-34. 

  Ind AS-34 Cß £i CøhUPõ» {v{ø» 
AÔUøPPÎß EÒÍhUP[PøÍ ÂÍUPÄ®. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Mr. PR keeps his books of accounts under single entry 
system. His financial position on 31.12.2020 and 
31.12.2021 was as follows 

Assets and Liabilities 2020  2021 
 Rs. Rs. 
Cash 10,000 1,000
Stock in Trade 40,000 60,000
Machinery 55,000 61,000
Bills Receivables - 16,000
Sundry Debtors 25,000 45,000
Sundry Creditors 75,000 82,000
Furniture 5,000 6,000
Drawings – 8,000

 During the year he introduced additional capital of 
Rs.30,000. 

 From the above particulars prepare a statement of Profit 
and Loss of Mr. PR for the year ended 31.12.2021. 
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 v¸. ¤.Bº. uÚx PnUS¨ ¦zuP[PøÍ JØøÓ¨ £vÄ 
•øÓ°ß RÌ £v¢x øÁzv¸UQÓõº. 31.12.2020 ©ØÖ® 
31.12.2021 AßÖ AÁμx {v {ø» ¤ßÁ¸©õÖ : 

ö\õzxUPÒ ©ØÖ® ö£õÖ¨¦PÒ 2020  2021 
 ¹. ¹. 
£n® 10,000 1,000
\μUQ¸¨¦ 40,000 60,000
C¯¢vμ[PÒ 55,000 61,000
ö£ÖuØS›¯ ©õØÖ ^mk - 16,000
£Ø£» PhÚõÎPÒ 25,000 45,000
£Ø£» PhÜ¢÷uõº 75,000 82,000
AøÓUP»ß 5,000 6,000
Gk¨¦PÒ – 8,000

 |h¨¦ BsiÀ TkuÀ ‰»uÚ©õP ¹.30,000 
AÎzxÒÍõº. 

 ÷©ØPsh Â£μ[PÎ¼¸¢x v¸. PR AÁºPÎß 
31.12.2021 Bsk •iÂØPõÚ »õ£ |mhU PnUQøÚ 
u¯õ›UPÄ®. 

17. The Chennai Commercial Company invoiced goods to its 
Madurai Branch at cost. The Head office paid all the 
branch expenses from its bank except petty cash expenses 
which were paid by the branch. From the following 
details relating to the Branch, Prepare: 

 (a) Branch stock A/c 

 (b) Branch Debtors A/c 

 (c) Branch Expenses A/c 

 (d) Branch P and L A/c 
Particulars Rs. Particulars Rs. 

Stock (Opening) 21,000 Discount to customers 4,200

Debtors (Opening) 37,800 Bad debts 1,800

Petty cash (Opening) 600 Goods returned by  

Goods send from H.O 78,000 customers to branch 1,500

Goods returned to H.O 3,000 Salaries and wages 18,600



S–2210 

  

  7

Particulars Rs. Particulars Rs. 

Cash sales 52,500 Rent 3,600

Advertisement 2,400 Debtors (closing) 29,400

Cash received from 
debtors 

85,500 Petty cash (closing) 300

Stock (Closing) 19,500 Credit sales 85,200

Allowances to 
customers 

600  

 ö\ßøÚ ÁoP {ÖÁÚ® uÚx ©xøμU QøÍUS 
Âø»¨£mi¯¼À \μUSPøÍ ÁÇ[Q¯x. uø»ø© 
A¾Á»P® QøÍ¯õÀ ö\¾zu¨£k® ]À»øμ öμõUP 
ö\»ÄPøÍz uÂμ AøÚzx QøÍa ö\»ÄPøÍ²® 
Á[Q°¼¸¢x ö\¾zv¯x. QøÍ öuõhº£õÚ ¤ßÁ¸® 
ÂÁμ[PÎ¼¸¢x 

 (A) QøÍ £[S PnUS 

 (B) QøÍ PhÚõÎPÒ PnUS 

 (C) QøÍa ö\»ÄPÒ PnUS 

 (D) QøÍ C»õ£ |mh PnUSPøÍ u¯õ›UPÄ®. 
ÂÁμ[PÒ ¹. ÂÁμ[PÒ ¹. 

(öuõhUP) \μUQ¸¨¦ 21,000 ÁõiUøP¯õÍºPÐUPõÚ
uÒÐ£i 

4,200

(öuõhUP) PhÚõÎPÒ 37,800 ÁμõU Phß 1,800
(öuõhUP) ]À»øμ 
öμõUP® 

600 QøÍUS 
ÁõiUøP¯õÍºPÒ 

H.O&¼¸¢x 
AÝ¨£¨£k® 
ö£õ¸mPÒ 

78,000 v¸®¤¯ ö£õ¸mPÒ 1,500

ö£õ¸mPÒ H.O&US 
v¸®¤¯x 

3,000 \®£Í® ©ØÖ® T¼PÒ 18,600

öμõUP ÂØ£øÚ 52,500 ÁõhøP 3,600
ÂÍ®£μ® 2,400 (CÖv) PhÚõÎPÒ 29,400
PhÚõÎPÎhª¸¢x 
ö£Ó¨£mh £n® 

85,500 (CÖv) ]À»øμ öμõUP® 300

(CÖv) \μUQ¸¨¦ 19,500 Phß ÂØ£øÚ 85,200
ÁõiUøP¯õÍºPÐUS 
AÎUP¨£mh £iPÒ 

600  
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18. A company acquired a machine on 1.1.2018 at a cost of 
Rs.4,00,000 and spent Rs.10,000 on its installation. The 
firms writes off depreciation at 10% on the diminishing 
balance. The books are closed on 31st December of each 
year. Show the Machinery A/c for three years. 

 J¸ {ÖÁÚ® 1.1.2018 AßÖ ¹.4,00,000 ö\»ÂÀ J¸ 
C¯¢vμzøu Áõ[Q¯x. AuøÚ {ÖÄÁuØPõP ¹.10,000 
ö\»Ä ö\´ux. A¢u {ÖÁÚ® SøÓ¢x Á¸® \©{ø» 
•øÓ°À 10% ÷u´©õÚzøu uÒÐ£i ö\´QÓx. 
JÆöÁõ¸ Bsk® i\®£º 31 AßÖ PnUSPÒ 
•iUP¨£kQßÓÚ. A¢u {ÖÁÚzvß ‰ßÖ 
BskPÐUPõÚ C¯¢vμU PnUøP u¯õº ö\´¯Ä®. 

19. Discuss in detail features, advantages and disadvantages 
of Hire purchase system. 

 ÁõhøP öPõÒ•uÀ •øÓ°ß A®\[PÒ, |ßø©PÒ 
©ØÖ® wø©PÒ £ØÔ Â›ÁõP ÂÁõvUPÄ®. 

20. Discuss in detail about the comparison of IFRS and 
Indian accounting Standards. 

 IFRS ©ØÖ® C¢v¯ PnUQ¯À uμ{ø»PÎß J¨¥k £ØÔ 
Â›ÁõP ÂÁõvUPÄ®. 

——————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Define Banking. 

 Á[Qø¯ Áøμ¯ÖUPÄ®. 

2. What is Banking system? 

 Á[Q Aø©¨¦ GßÓõÀ GßÚ? 

3. Define Commercial bank. 

 ÁoP Á[Qø¯ Áøμ¯ÖUPÄ®. 

4. What is lending? 

 Phß öPõk¨£x GßÓõÀ GßÚ? 

5. What do you mean by non performing asset? 

 ö\¯À£hõu ö\õzx GßÓõÀ GßÚ? 

6. Define Capital. 

 ‰»uÚzøu Áøμ¯ÖUPÄ®. 
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7. Define Insurance. 

 Põ¨¥møh Áøμ¯ÖUPÄ®. 

8. List out the methods of handling Risk. 

 ›ìUøP øP¯õÐ® •øÓPøÍ £mi¯¼k[PÒ. 

9. What do you mean by Marine insurance? 

 PhÀ Põ¨¥k GßÓõÀ GßÚ? 

10. Write any two important objectives of general insurance. 

 ö£õxU Põ¨¥miß H÷uÝ® Cμsk •UQ¯ ÷|õUP[PøÍ 
GÊx[PÒ. 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Briefly explain the nature of banking system. 

  Á[Q •øÓ°ß ußø©ø¯ _¸UP©õP ÂÍUS[PÒ. 

Or 

 (b) What is the role banks in economic development of 
the country? 

  |õmiß ö£õ¸Íõuõμ ÁÍºa]°À Á[QPÎß £[S 
GßÚ? 

12. (a) What are the principles to be followed in the process 
of good lending? 

  Phß ÁÇ[S® ö\¯À£õmiÀ ¤ß£ØÓ ÷Ási¯ 
öPõÒøPPÒ GßÚ? 

Or 

 (b) Elucidate the role and responsibilities of commercial 
banks. 

  ÁoP Á[QPÎß £[S ©ØÖ® ö£õÖ¨¦PøÍ 
öuÎÄ£kzx[PÒ. 
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13. (a) Discuss about banking Ombudsman scheme. 

  Á[Q K®¦mì÷©ß vmh® £ØÔ ÂÁõvUP. 

Or 

 (b) What are the three banking sector reforms 
introduced in 1991? 

  1991&CÀ AÔ•P¨£kzu¨£mh ‰ßÖ Á[Qz xøÓ 
^ºv¸zu[PÒ ¯õøÁ? 

14. (a) Explain nature and scope of Insurance. 

  Põ¨¥miß ußø© ©ØÖ® ÷|õUPzøu ÂÍUPÄ®. 

Or 

 (b) Enumerate the benefits of Insurance. 

  Põ¨¥miß |ßø©PøÍU PnUQkP. 

15.  (a) What are the types of general insurance? 

  ö£õx Põ¨¥mk ÁøPPÒ ¯õøÁ? 

Or 

 (b) What are the types of Fire policies? 

  w öPõÒøPPÎß ÁøPPÒ ¯õøÁ? 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Discuss various types of banking. 

 £À÷ÁÖ ÁøP¯õÚ Á[QPøÍ¨ £ØÔ ÂÁõvUP. 

17. Distinguish between commercial bank and central bank. 

 ÁoP Á[Q ©ØÖ® ©zv¯ Á[Qø¯ ÷ÁÖ£kzx. 

18. Explain RBI norms for capital adequacy. 

 ‰»uÚ¨ ÷£õx©õÚ AÍÄUPõÚ RBI Âv•øÓPøÍ 
ÂÍUSP. 
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19. Discuss in detail evolution of insurance in modern India. 

 |ÃÚ C¢v¯õÂÀ Põ¨¥miß £›nõ© ÁÍºa]ø¯ Â›ÁõP 
ÂÁõvUP. 

20. Describe different types of fire insurance policies. 

 £À÷ÁÖ ÁøP¯õÚ w Põ¨¥mkU öPõÒøPPøÍ ÂÁ›UP. 

  
———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Define accounting. 

 PnUQ¯ø» Áøμ¯ÖUP. 

2. What is accounting equation? Give an example. 

 PnUQ¯À \©ß£õk Gß£x ¯õx? Euõμn® u¸P. 

3. What is double entry system of accounting? 

 Cμmøh¨ £vÄ PnUQ¯¼À •øÓ Gß£x ¯õx? 

4. Write the format of a journal. 

 SÔ¨÷£miß £iÁzøu GÊxP. 

5. What do you mean by balancing of accounts? 

 PnUQøÚ \©ß£kzxuÀ Gß£uß ö£õ¸Ò ¯õx? 

6. What is petty cash book? 

 ]À»øÓa Põ÷\mk¨ ¦zuP® GßÓõÀ GßÚ? 

7. What are the kinds of cash book? 

 Põ÷\mk¨ ¦zuPzvß ÁøPPÒ ¯õøÁ? 
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8. What is bank reconciliation statement? 

 Á[Q \©μ\ AÔUøP Gß£x ¯õx? 

9. What is capital expenditure? 

 ‰»uÚa ö\»Ä GßÓõÀ GßÚ? 

10. What is deferred revenue expenditure? 

 JzvøÁUP¨£mh Á¸Áõ´ ö\»Ä GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) What are the salient features of double entry 
system of accounting? 

   JØøÓ¨ £vÄ•øÓ PnUQ¯¼ß ]Ó¨¤¯À¦PÒ 
¯õøÁ? 

Or 

 (b) What are the principles of accounting? 

   PnUQ¯¼ß SÔU÷PõÒPÒ ¯õøÁ? 

12. (a) Prepare Trial Balance for the following Balances as 
on 31st March, 2021: 

Balances Rs. Balances Rs. 

Cost of goods sold 5,20,000 Plant and Machinery 2,00,000

Opening stock 50,000 Drawings 50,000

Closing stock 50,000 Investment 4,30,000

Salary and Wages 50,000 Creditors 1,00,000

Sales 8,00,000 Capital 4,00,000
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   31 ©õºa, 2021&ß £i ¤ßÁ¸® {¾øÁPøÍU 
öPõsk ÷\õuøÚ C¸¨ø£z u¯õº ö\´¯Ä®: 

{¾øÁPÒ ¹. {¾øÁPÒ ¹. 

ÂØÓ ö£õ¸mPÎß 
öPõÒ•uÀ Âø» 

5,20,000 ö£õÔ ©ØÖ® C¯¢vμ® 2,00,000

Bμ®£a \μUS 50,000 Gk¨¦PÒ 50,000

CÖva \μUS  50,000 •u½k 4,30,000

\®£Í® ©ØÖ® T¼ 50,000 PhÚõÎPÒ 1,00,000

ÂØ£øÚ  8,00,000 ‰»uÚ® 4,00,000

Or 

 (b) State the differences between journal and ledger. 

  SÔ¨÷£miØS® ÷£÷μmiØS® Cøh÷¯ EÒÍ 
÷ÁÖ£õkPøÍU TÖP. 

13. (a) What are subsidiary books? State its advantages. 

  xøn ¦zuP[PÒ GßÓõÀ GßÚ? AÁØÔß 
|ßø©PøÍU TÖP. 

Or 

 (b) Enter the following transactions in Abhi’s cash book 
with cash and discount columns: 

2007   

Jan. 1 Cash balance Rs.22,000 

 2 Credit sales to Abirami Rs.12,000 

 3 Cash sales Rs.40,000 

 4 Credit purchases from Seetha Rs.27,000 

 5 Bought goods for Rs. 18,000 

 8 Abirami paid her dues @ 2% cash discount 

 9 Paid to Seetha Rs.26,730 and settled her 
account 

 15 Cash withdrawn for personal expenses 
Rs.4,000 
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2007   

Jan. 18 Drawn a cheque for office use Rs. 15,000 

 25 Paid office rent Rs.7,500 

 28 Paid into the bank Rs.25,000 

 29 Received from Amala Rs.4,800 in settlement of 
her account for Rs.5,000 

 30 Paid salaries Rs.4,000 

   ¤ßÁ¸® £›ÁºzuøÚPøÍ A¤°ß öμõUP ¦zuPzvÀ 
öμõUP® ©ØÖ® uÒÐ£i £zvPÐhß £vÂkP: 

2007   

áÚÁ›  1 öμõUP C¸¨¦ ¹.22,000 

 2 A¤μõªUS Phß ÂØ£øÚ ¹.12,000 

 3 öμõUP ÂØ£øÚ ¹.40,000 

 4 ^uõÂhª¸¢x Phß öPõÒ•uÀ ¹.27,000 

 5 ö£õ¸mPÒ Áõ[Q¯x ¹.18,000 

 8 A¤μõª {¾øÁz öuõøPø¯ @ 2% £nz 
uÒÐ£i°À ö\¾zvÚõº 

 9 ^uõÄUS ¹.26,730 ö\¾zv AÁμx PnUøPz 
wºzuõº 

 15 ö\õ¢u ö\»ÂØS £n® Gkzux ¹.4,000 

 18 A¾Á»P¨ £¯ß£õmiØPõP Põ÷\õø»°À 
Gkzux ¹.15,000 

 25 A¾Á»P ÁõhøP ö\¾zv¯x ¹.7,500 

 28 Á[Q°À ö\¾zv¯x ¹.25,000 

 29 A©»õÂhª¸¢x ¹.4,800 ö£Ó¨£mk AÁμx 
¹.5,000 zvØPõÚ PnUS wºÄ ö\´¯¨£mhx. 

 30 Fv¯® ÁÇ[Q¯x ¹.4,000 
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14. (a) What are the causes for differences of cash book and 
pass book? 

  £n¨ ¦zuP® ©ØÖ® Á[Q PnUS ¦zuP® 
Âzv¯õ\¨£kÁuØPõÚ Põμn[PÒ GßÚ?  

Or 

  (b) From the following details prepare a bank 
reconciliation statement: 

   (i) Overdraft as per cash book Rs,2,000 

   (ii) A cheque issued to the customer but not 
collected by bank Rs.560. 

   (iii) A cheque issued to the customer but not 
presented for payment Rs.1,350. 

   (iv) An amount of Rs.905 directly credited in the 
pass book for interest on investment. 

  (v) The bank debited customer’s account for Rs.80 
as bank charges. This fact not yet entered in 
cash book. 

   RÌUPsh Â£μ[PÎ¼¸¢x Á[Q \©μ\ AÔUøPø¯ 
u¯õ›UP: 

    (i) £n¨ ¦zuPzvß £i Á[Q ÷©À£ØÖ ¹.2,000 

    (ii) ÁõiUøP¯õÍ¸US ÁÇ[P¨£mh Põ÷\õø» 
¹.560 Á[Q Á`¼UPÂÀø». 

   (iii) ÁõiUøP¯õÍ¸US ÁÇ[Q¯ Põ÷\õø» ¹.1,350 
Á[Q°À ö\¾zxÁuØS ÁÇ[P¨£hÂÀø». 

    (iv) •u½miß «uõÚ Ámi ¹.905 Á[Q°À 
÷|μi¯õP ÁμÄ øÁUP¨£mhx. 

    (v) ÁõiUøP¯õÍ›ß PnUQÀ Á[QU Pmhn® ¹.80 
Á[Q £ØÖ øÁzux. Cx CßÝ® £n¨ 
¦zuPzvÀ £vÂh¨£hÂÀø». 
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15. (a) Prepare Trading Account from the following ledger 
balances of Mr. Ganesh as on 31st March, 2016: 

Particulars Rs. Particulars Rs. 

Stock (1.4.2015) 10,000 Sales 3,00,000

Purchases 1,60,000 Returns inward 16,000

Wages 30,000 Returns outward 10,000

Carriage inwards 10,000 Gas and Fuel 8,000

Frieght inwards 8,000  
   Additional information: 
   (i) Stock on 31st March, 2016 – Rs.20,000 
   (ii) Outstanding wages amounted to Rs.4,000 
   (iii) Gas and fuel was paid in advance for Rs. 1,000 

  v¸. P÷næß ÷£÷μmiÀ EÒÍ RÌPõq® 
{¾øÁPÎ¼¸¢x 31 ©õºa, 2016 AßøÓ¯ ÁºzuPU 
PnUQøÚ u¯õ›UPÄ®. 

Â£μ[PÒ ¹. Â£μ[PÒ ¹. 

\μUQ¸¨¦ (1.4.2015) 10,000 ÂØ£øÚ 3,00,000

öPõÒ•uÀ 1,60,000 EÒ v¸¨£® 16,000

T¼ 30,000 öÁÎz v¸¨£®  10,000

EÒ÷|õUQ T¼  10,000 G›Áõ² ©ØÖ® 
G›ö£õ¸Ò 

8,000

\μUS EÒ÷|õUQ 8,000  
   TkuÀ uPÁÀPÒ: 

   (i) 31 ©õºa, 2016 AßøÓ¯ \μUQ¸¨¦ & ¹.20,000 

   (ii) {¾øÁ°¾ÒÍ T¼ ¹.4,000 

    (iii) G›Áõ² ©ØÖ® G›ö£õ¸ÐUS •ß£n® 
ö\¾zv¯x ¹.1,000 

Or 

 (b) State the features of Receipts and payments 
account. 

  μ^xPÒ ©ØÖ® ö\¾zuÀ PnUQß ]Ó¨£®\[PøÍU 
SÔ¨¤kP. 
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Briefly explain the different accounting concepts. 

 £À÷ÁÖ PnUQ¯À P¸zxPøÍ _¸UP©õP ÂÍUPÄ®. 

17. Record the following transactions in the Journal and post 
them into the Ledger and prepare a Trial Balance: 

2009  Rs. 

Oct. 1 Nikesh started the business with a 
capital 

80,000

Oct. 3 Bought goods from Kiran on credit 20,000

Oct. 4 Sold goods to Tarun 25,000

Oct. 5 Cash purchases 25,000

Oct. 7 Cash sales 15,000

Oct. 9 Goods returned to Kiran 2,000

Oct.10 Bought furniture 15,000

Oct. 11 Cash paid to Kiran 12,000

Oct.12 Goods returned by Tarun 3,000

Oct.14 Goods taken by Nikesh for personal 
use 

3,000

Oct.15 Cash received from Tarun 12,000

Oct.16 Took loan from Pari 30,000

Oct.17 Bought stationery 1,000

Oct.20 Interest received 4,000

Oct.24 Amount paid to Pari on loan account 18,000

Oct.31 Salary paid 5,000
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  ¤ßÁ¸® £›ÁºzuøÚPøÍ SÔ¨÷£miÀ GÊv, 

÷£÷μmiÀ £vÄ ö\´x, ÷\õuøÚ C¸¨¦ {ø»ø¯z 

u¯õ›UPÄ®. 

2009  ¹. 

AU. 1 {÷Pè öuõÈÀ öuõh[Q¯ ‰»uÚ® 80,000

AU. 3 Qμohª¸¢x PhÚõP Áõ[Q¯ \μUS 20,000

AU. 4 u¸qUS ÂØÓ \μUS 25,000

AU. 5 öμõUPU öPõÒ•uÀ  25,000

AU. 7 öμõUP ÂØ£øÚ 15,000

AU. 9 QμqUS v¸¨¦ AÝ¨£¨£mh \μUS 2,000

AU. 10 uÍÁõh[PÒ Áõ[Q¯x 15,000

AU. 11 QμqUS ö\¾zv¯ öμõUP® 12,000

AU. 12 u¸s v¸¨¤ AÝ¨¤¯ \μUS 3,000

AU. 14 {÷Pè ö\õ¢u E£÷¯õPzvØS Gkzu 

\μUS 

3,000

AU. 15 u¸ohª¸¢x ö£Ó¨£mh öμõUP® 12,000

AU. 16 £õ›°h® ö£ØÓ Phß 30,000

AU. 17 GÊxö£õ¸mPÒ Áõ[Q¯x 1,000

AU. 20 ö£Ó¨£mh Ámi 4,000

AU. 24 £õ›°h® ö£ØÓ Phß ö\¾zv¯x 18,000

AU. 31 \®£Í® ÁÇ[Q¯x 5,000

18. Explain the different types of Cash Books. Give format of 

each type. 

 öμõUP ¦zuPzvß £À÷ÁÖ ÁøPPøÍ ÂÍUSP. AÁØÔß 

JÆöÁõ¸ ÁøPUPõÚ £iÁzvøÚ u¸P. 
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19. On 30th June. 2005 the Pass Book of Sundar showed a 
credit balance of Rs.7,400. On comparison with the Cash 
Book the following omissions were found out. 

(a) Cheques received from customers for Rs.450 and 
Rs.220 were not yet collected. 

  (b) A cheque for Rs. 100 received from Raman though 
debited by him in the bank column of the Cash Book 
was not paid into bank. 

  (c) The pass book showed a credit of Rs.75 being interest 
on investment collected. 

  (d) There was a debit of Rs.120 in the pass book in 
respect of a cheque dishonoured. 

  (e) Wrong credit of Rs.100 made in the pass book by the 
bank. 

  (f) Payment of Rent Rs.125, Taxes Rs.75 and Insurance 
Premium Rs.l50 debited in the pass book alone. 

  Prepare the Bank Reconciliation Statement of Sundar as 
on 30th June, 2005. 

  áúß 30, 2005 AßÖ _¢u›ß Á[Q PnUS ¦zuP® 
¹.7,400 Phß C¸¨ø£U Põmi¯x. £n¨ ¦zuPzxhß 
J¨¤køP°À ¤ßÁ¸® ¤øÇPÒ PshÔ¯¨£mhÚ. 

 (A) ÁõiUøP¯õÍºPÎhª¸¢x ¹.450 ©ØÖ® ¹.220US 
ö£Ó¨£mh Põ÷\õø»PÒ CßÝ® 
Á`¼UP¨£hÂÀø». 

  (B) £n¨ ¦zuPzvß Á[Q¨ £zv°À μõ©ÚõÀ ö£Ó¨£mh 
¹.100UPõÚ Põ÷\õø» Á[Q°À ö\¾zu¨£hÂÀø». 

  (C) Á[Q PnUS ¦zuPzvÀ •u½miß «uõÚ Ámi ¹.75 
Á`¼zuøu ÁμÄ øÁUP¨£mkÒÍx. 

  (D) ©v¨¤Ç¢u Põ÷\õø» öuõhº£õP Á[Q PnUS 
¦zuPzvÀ ¹.120 £ØÖ øÁUP¨£mkÒÍx. 

  (E) Á[Q uÚx PnUS ¦zuPzvÀ ¹.100 uÁÖu»õP ÁμÄ 
øÁzxÒÍx. 

  (F) ÁõhøP ¹.125, Á›PÒ ¹.75 ©ØÖ® Põ¨¥mk 
•øÚ©® ¹.150 Á[Q PnUS ¦zuPzvÀ ©mk® £ØÖ 
øÁUP¨£mkÒÍx. 

   áúß 30, 2005 AßÖ _¢u›ß Á[Q \©μ\ AÔUøPø¯z 
u¯õ›UPÄ®. 
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20. From the following particulars taken out from the books 
of Rahman & Co. you are required to prepare Trading 
and Profit & Loss account and Balance Sheet as at  
March 31, 2019. 

Particulars Rs. Particulars Rs. 

Sundry Debtors 52,000 Insurance premium 
(paid on 1.1.19) 

2,400

Account payable 22,000 Cash at Bank 6,200

Cash in Hand 2,392 Machinery 24,000

Furniture  3,500 Wages  23,600

Motor Car 22,000 General expenses 2,680

Purchases 1,45,000 Carriage inward 2,040

Sales 2,92,000 Carriage outward  1,630

Sales return 2,600 Transportation in  6,430

Opening Stock 11,400 Owner equality  20,000

Motor Car 
expenses 

3,600 Drawing 8,000

Equipment  2,508 Rent and Taxes 3,600

Salaries  8,420  

  Adjustments: 

  (a) Closing Stock Rs.35,000. 

 (b) Provision for doubtful debts at 5% on Sundry 
Debtors. 

 (c) Depreciate furniture and machinery by 10%. 

 (d) Commission of Rs.3,600 has been earned but not 
received till the closing of accounts. 
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  μð©õß & ÷Põ. ¦zuP[PÎ¼¸¢x GkUP¨£mh ¤ßÁ¸® 
ÂÁμ[PÎ¼¸¢x ©õºa 31, 2019 CÀ ÁºzuP® ©ØÖ® 
C»õ£ |mhU PnUS, ©ØÖ® C¸¨¦{ø»U SÔ¨¤øÚz 
u¯õ›UPÄ®. 

Â£μ[PÒ ¹. Â£μ[PÒ ¹. 

£Ø£» PhÚõÎPÒ 52,000 Põ¨¥mk •øÚ©® 
(1.1.19&À 
ö\¾zv¯x) 

2,400

ö\¾zu ÷Ási¯ 
PnUSPÒ 

22,000 Á[Q°À EÒÍ 
öμõUP® 

6,200

öμõUP øP°¸¨¦ 2,392 C¯¢vμ[PÒ 24,000

AøÓP»ßPÒ 3,500 T¼ 23,600

÷©õmhõº ÁõPÚ® 22,000 ö£õx ö\»ÂÚ[PÒ 2,680

öPõÒ•uÀ 1,45,000 EÒ÷|õUQ Ási 2,040

ÂØ£øÚ 2,92,000 öÁÎ÷¯ØÓ Ási 1,630

ÂØ£øÚz 
v¸¨£® 

2,600 EÒ ÷£õUSÁμzx 6,430

öuõhUP 
\μUQ¸¨¦ 

11,400 E›ø©¯õÍº £[S 20,000

÷©õmhõº ÁõPÚa 
ö\»ÄPÒ 

3,600 Gk¨¦PÒ 8,000

E£Pμn[PÒ 2,508 ÁõhøP ©ØÖ® 
Á›PÒ 

3,600

Fv¯® 8,420  

  \›UPmkuÀPÒ:  

 (A) CÖv \μUQ¸¨¦ ¹.35,000 

  (B) £Ø£» PhÚõÎPÒ «x 5% I¯¨£mkU PhßPÐUS 
JxUPÄ®. 

  (C) AøÓP»ßPÒ ©ØÖ® C¯¢vμ[PÒ «x 10% ÷u´©õÚ® 
SøÓUPÄ®. 

  (D) ¹.3,600 Pªåß Dmi¯x. BÚõÀ PnUS •i²® 
Áøμ ö£Ó¨£hÂÀø».   

 
———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Define Company. 

 {Ö©zvøÚ Áøμ¯ÖUP. 

2. Who is a promoter? 

 ÷uõØÖÂ¨£õÍº Gß£Áº ¯õº? 

3. What is Certificate of Incorporation?? 

 £vÄa \õßÔuÌ Gß£x ¯õx? 

4. What is Readhering Prospectus? 

 ¦ÓUPoUP¨£mh uPÁ»ÔUøP Gß£x ¯õx? 

5. What is Preference Share? 

 •ßÝ›ø© £[SPÒ Gß£x ¯õx? 

6. What is Rights issue? 

 E›ø©¨ £[S Gß£x ¯õx? 
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7. Who appoints a Company Secretary? 

 {Ö©a ö\¯»øμ {Öª¨£Áº ¯õº? 

8. State the objectives of Depository Act. 

 {vøÁ¨¦a \mhzvß ÷|õUP[PøÍU TÖP. 

9. What is reduction in Capital? 

 £[S •uÀ SøÓ¨¦ Gß£x ¯õx? 

10. Enlist the different kinds of debentures.  

 £[Põuõ¯zvß £À÷ÁÖ ÁøPPøÍ £mi¯¼kP. 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) What is a private company? State the provisions of 
Companies Act relating to private companies. 

  uÛ¯õº {Ö©® Gß£x ¯õx? uÛ¯õº {Ö©® 
öuõhº£õÚ {Ö©a \mhzv¾ÒÍ \μzxUPøÍU 
SÔ¨¤kP. 

Or 

 (b) What are the characteristics of a company? 

  {Ö©zvß Sn|»ßPÒ ¯õøÁ? 

12. (a) Write a note on Statement in lieu of prospectus. 

  uPÁ»ÔUøPUS ©õØÓõÚ AÔUøP £ØÔ ]Ö SÔ¨¦ 
ÁøμP. 

Or 

 (b) What are the salient features of Abridged 
Prospectus? 

  _¸UPz uPÁ»ÔUøP°ß ]Ó¨¤¯À¦PÒ ¯õøÁ? 
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13. (a) What is equity share? State its merits to the 

company and the shareholders? 

  \©£[S Gß£x ¯õx? AøÁ {ÖÁzvØS®, 
£[SuõμºPÐUS® AÎUS® {øÓPøÍU TÖP.  

Or 

 (b) What are the duties of a company secretary 

regarding forfeiture of shares? 

  £[S £Ô•uÀ öuõhº£õP ö\¯»›ß Phø©PÒ 
¯õøÁ? 

14. (a) State the different types of secretaries and explain 

the functions of each type of secretary. 

  {Ö© ö\¯»ºPÎß £À÷ÁÖ ÁøPPøÍU TÔ 
JÆöÁõ¸ ÁøP ö\¯»›ß £oPøÍ ÂÍUSP. 

Or 

 (b) What are the qualifications needed for a Company 

Secretary? 

  {Ö©a ö\¯»¸US ÷uøÁ¯õÚ uSvPÒ ¯õøÁ?  

15.  (a) State the rules regarding acceptance of deposits by 

the companies. 

  {Ö©[PÒ øÁ¨¦{v ö£ÖÁuØPõÚ \mh ÂvPøÍU 

TÖP. 

Or 

 (b) Describe the secretarial procedure in depository 

mode of transfer. 

  {vøÁ¨¦ •øÓ £›©õØÓzvØPõÚ ö\¯»›ß 

|øh•øÓPøÍU SÔ¨¤kP. 
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. What is e-Filing? State its salient features and explain 
the procedure of e-Filing. 

 ªß ÷Põ¨¤kuÀ GßÓõÀ GßÚ? Auß ]Ó¨¤¯À¦PøÍU 
TÔ ªß ÷Põ¨¤ku¾UPõÚ ö\¯À•øÓ°øÚ ÂÍUSP. 

17. Explain briefly the secretarial procedure with regard to 
registration of prospectus. 

 uPÁ»ÔUøPø¯ £vÄ ö\´ÁuØPõÚ ö\¯»›ß 
|øh•øÓPøÍ Â›ÁõP ÂÍUSP. 

18. Describe the duties of a company secretary regarding 
allotment of shares. 

 £[S JxUSuÀ öuõhº£õP {Ö©a ö\¯»›ß Phø©PøÍ 
ÂÁ›UP. 

19. Discuss the powers and duties of a company secretary. 

 {Ö©a ö\¯»›ß AvPõμ® ©ØÖ® £oPøÍ ÂÁõvUP. 

20. What is ultravires borrowing? State the remedies 
available to a lender on ultravires borrowing. 

 Bøn²›ø© Áμ®¦ «Ô¯ Phßö£ÖuÀ GßÓõÀ ¯õx? 
Bøn²›ø© Áμ®¦ «Ô¯ PhßPÒ «x Phß u¢uÁ›ß 
E›ø©PÒ ¯õøÁ? 

  
———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Define partnership. 

 Tmhõsø©ø¯ Áøμ¯ÖUPÄ®.  

2. What is Interest on drawings? 

 Áøμ£h[PÒ «uõÚ BºÁ® GßÓõÀ GßÚ? 

3. What is Sacrificing Ratio? Give its formula. 

 v¯õP ÂQu® GßÓõÀ GßÚ? Auß `zvμzøuU 

öPõk[PÒ.  

4. Write a short note on Super profit method. 

 `¨£º »õ£ •øÓ £ØÔ J¸ ]Ö SÔ¨ø£ GÊuÄ®.  

5. What is profit Sharing Ratio? 

 »õ£ £QºÄ ÂQu® GßÓõÀ GßÚ? 
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6. What is dissolution? 

 Pø»¨¦ GßÓõÀ GßÚ? 

7. Write a short note on Amalgamation. 

 A©À÷Påß £ØÔ J¸ ]Ö SÔ¨ø£ GÊuÄ®.  

8. What do you mean by Insolvency? 

 vÁõÀ ußø© GßÓõÀ GßÚ? 

9. What do you mean by Proportionate capital Method? 

 ÂQuõ\õμ ‰»uÚ •øÓ GßÓõÀ GßÚ? 

10. Write a Short note on Maximum loss Method. 

 AvP£m\ CÇ¨¦ •øÓ £ØÔ J¸ ]Ö SÔ¨ø£ GÊuÄ®.  

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Balu and Seenu are partners Sharing profits and 
losses equally with capitals of Rs.60,000 and 
Rs.40,000 respectively. Their drawings during the 
year are as follows: 

  Balu’s drawings on : 

  31.3.1993  Rs. 1,000 

  30.4.1993  Rs. 1,200 

  01.7.1993  Rs. 900 

  1.12.1993  Rs. 2,800 

  Seenu drew Rs.400 at each month. The deed 
provides interest on capitals and drawings at 6%. 
Calculate interest on capitals and drawings. 
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  £õ¾ ©ØÖ® ^Ý £[SuõμºPÒ »õ£® ©ØÖ® 
|èh[PÒ •øÓ÷¯ ¹. 60,000 ©ØÖ® ¹. 40,000 
‰»uÚzxhß \©©õP £Qº¢x öPõÒQßÓÚº. 
Á¸hzvÀ AÁºPÎß Áøμ£h[PÒ ¤ßÁ¸©õÖ.  

  £õ¾ Áøμ¢xÒÍõº.  

  31.3.1993  ¹. 1,000 

  30.4.1993  ¹. 1,200 

  01.7.1993  ¹. 900 

  1.12.1993  ¹. 2,800 

  ^Ý JÆöÁõ¸ ©õu•® ¹. 400 Gkzuõº. £zvμ® 
‰»uÚ[PÒ ©ØÖ® Áøμ£h[PÐUS 6% Ámi 
ÁÇ[SQÓx. ‰»uÚ[PÒ ©ØÖ® Áøμ£h[PÒ «uõÚ 
Ámiø¯U PnUQk[PÒ.  

Or 

 (b) Distinguish between Profit and Loss Account and 
Profit and Loss Appropriation Account. 

  »õ£® ©ØÖ® CÇ¨¦ PnUS ©ØÖ® »õ£® ©ØÖ® 
CÇ¨¦ JxURmk PnUS BQ¯ÁØøÓ 
÷ÁÖ£kzx[PÒ.  

12. (a) Milind and Madhav are partners sharing profits 
and losses in the ratio of 1:3 they admit Manohar as 
a new partner who pays Rs.40,000 as capital. The 
new ratio is to be 1:3:1. The goodwill of the firm is to 
be based on 2 years purchase of the average of  
4 years’ profits which were Rs. 18,000;  
Rs. 12,000; Rs. 20,000 and Rs. 10,000. 

  Give journal entries if (i) Manohar pays for goodwill 
in cash and if (ii) he is unable to bring cash for 
goodwill. 
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  ª¼¢z ©ØÖ® ©õuÆ BQ÷¯õº 1:3 GßÓ ÂQuzvÀ 
C»õ£ |mh[PøÍ¨ £Qº¢x öPõÒÐ® £[SuõμºPÒ. 
AÁºPÒ ©÷ÚõPøμ ¦v¯ £[SuõμμõP 
J¨¦UöPõÒQÓõºPÒ, AÁº ‰»uÚ©õP ¹. 40,000 

ö\¾zxQÓõº. ¦v¯ ÂQu® 1:3:1 BP C¸UP 
÷Ásk®. {ÖÁÚzvß |Àö»sn® 2 Á¸h[PÒ 
Áõ[S® \μõ\› 4 Á¸h »õ£zvß Ai¨£øh°À  
¹. 18,000 BS®. ¹. 12,000, ¹. 20,000 ©ØÖ®  

¹. 10,000. 

  (i) ©÷ÚõPº |Àö»snzvØS £n©õP 

ö\¾zvÚõÀ ©ØÖ®  

  (ii) AÁμõÀ |Àö»snzvØPõP £nzøu öPõsk 

Áμ •i¯õÂmhõÀ £zv›UøP EÒÏkPøÍ 
ÁÇ[PÄ®.  

Or 

 (b) Journalize the following transactions in case of 

retirement of a partner and also calculate the net 

result of revaluation: 

  (i) Sale of scarps worth Rs.6,000 

  (ii) Sale of unrecorded equipments for Rs.14,000  

  (iii)  Payment of unrecorded liability amounted to 

Rs. 22,000  

  (iv)  Unclaimed liability amounts to Rs.7,000 

  (v)  Book value of debtors is Rs. 40,800. Out of this 

amount, Rs.800 Proves to be bad. 

   provision for bad debts is to be created at 5% 

and provision for discounts is to be maintained 

@ 2% 
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  J¸ £[Suõμº K´Ä ö£Ö®÷£õx ¤ßÁ¸® 
£›ÁºzuøÚPøÍ £vÄ ö\´¯Ä® ©ØÖ® 
©Ö©v¨¥miß {Pμ •iøÁU PnUQhÄ®.  

  (i) ¹. 6,000 ©v¨¦ÒÍ ìPõμ¨ ÂØ£øÚ  

  (ii) £vÄ ö\´¯¨£hõu E£Pμn[PøÍ ¹. 14,000US 
ÂØ£øÚ ö\´uÀ  

  (iii) £vÄ ö\´¯¨£hõu ö£õÖ¨¦UPõÚ öuõøP  
¹. 22,000 

  (iv) ÷Põμ¨£hõu ö£õÖ¨¦ ¹. 7,000 

  (v) PhÚõÎPÎß ¦zuP ©v¨¦ ¹. 40,800. C¢u 
öuõøP°À ¹. 800 ÷©õ\©õÚx Gß£øu 
{¹¤UQÓx.  

   ÷©õ\©õÚ ö£õ¸mPÐUPõÚ JxURk 5% CÀ 
E¸ÁõUP¨£h ÷Ásk® ©ØÖ® uÒÐ£iUPõÚ 

HØ£õk @2% £μõ©›UP¨£h ÷Ásk®.  

13. (a) Distinguish between dissolution of partnership and 
dissolution of firm. 

  Tmhõsø© Pø»¨¦ ©ØÖ® {ÖÁÚzvß Pø»¨¦ 
BQ¯ÁØøÓ ÷ÁÖ£kzx[PÒ.  

Or 

 (b) ABCD is the new firm which acquired the running 
business of A&B and C&D whose adjusted capitals 
are Rs.90,000, Rs.86,000, Rs.70,000 and Rs.60,000 
respectively. They share profits & Losses equally. 
Among the assets and liabilities taken over are good 
will of A & B Rs.30,000 and that of C & D 
Rs.50,000. It is decided to write it off. The new 
firm’s capital should be Rs.2,40,000 which must be 
in profit sharing ratio. Calculate the amount to be 
current accounts of the partners. 
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  ABCD Gß£x A&B ©ØÖ® C&D BQ¯ÁØÔß 

C¯[S® ÁoPzøu Áõ[Q¯ ¦v¯ {ÖÁÚ©õS®, 
Auß \›ö\´¯¨£mh ‰»uÚ® •øÓ÷¯ ¹. 90,000, 
¹. 86,000, ¹. 70,000 ©ØÖ® ¹. 60,000 BS®. 
AÁºPÒ »õ£® ©ØÖ® |èhzøu \©©õP £Qº¢x 

öPõÒQÓõºPÒ. øP¯P¨£kzu¨£mh ö\õzxUPÒ 

©ØÖ® ö£õÖ¨¦PÎÀ H & ¤ ¹. 30,000 ©ØÖ®  

] & i ¹. 50,000 BQ¯øÁ Ah[S®. Aøu 

uÒÐ£i ö\´¯ •iÄ ö\´¯¨£mkÒÍx. ¦v¯ 
{ÖÁÚzvß ‰»uÚ® ¹. 2,40,000 BP C¸UP 
÷Ásk®, Ax »õ£¨ £QºÄ ÂQuzvÀ C¸UP 
÷Ásk®. TmhõÍºPÎß |h¨¦U PnUSPÍõP 

C¸US® öuõøPø¯U PnUQk[PÒ.  

14. (a) Sarasu, Mangai and Mekala share profits in the 

ratio of 4:3:2. They have decided to sell their firm to 

a limited company on June 30, 1999. Their balance 

sheet on that date was as under : 

 Rs.  Rs. 

Creditors 12,000 Land and building 18,000

Capital : Machinery 12,000

Sarasu 20,000 Debtors 15,000

Mangai 15,000 Stock 13,000

Mekala 13,000 Cash 2,000

 60,000  60,000

  Purchase consideration agreed upon was  

Rs. 50,000. Of this the company has Paid  

Rs. 32,000 in its our shares and the balance in cash. 

Dissolution expenses of the firm Rs. 600 was paid by 

the company. Give the journal entries. 
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  \μ_, ©[øP ©ØÖ® ÷©P»õ 4:3:2 GßÓ ÂQuzvÀ 
C»õ£zøu¨ £Qº¢x öPõÒQßÓÚ. áüß 30, 1999 
AßÖ AÁºPÒ u[PÒ {ÖÁÚzøu J¸ ¼ªöhm 
{ÖÁÚzvØS ÂØP •iÄ ö\´xÒÍÚº. A¢u 

÷uv°À AÁºPÎß C¸¨¦{ø» ¤ßÁ¸©õÖ. 

 ¹.  ¹. 

Phß öPõkzuÁºPÒ 12,000 {»® ©ØÖ® Pmih® 18,000

‰»uÚ® :  C¯¢vμ[PÒ 12,000

\μ_ 20,000 PhÚõÎPÒ 15,000

©[øP 15,000 £[S 13,000

÷©P»õ 13,000 öμõUP® 2,000

 60,000  60,000

   öPõÒ•uÀ £›^»øÚ J¨¦UöPõÒÍ¨£mhx  
¹. 50,000. CvÀ  {ÖÁÚ® ¹. 32,000 uÚx ö\õ¢u 
£[PõPÄ®, «vø¯ öμõUP©õPÄ® ö\¾zv²ÒÍx. 
{ÖÁÚzvß Pø»¨¦ ö\»Ä ¹. 600 {ÖÁÚzuõÀ 

ö\¾zu¨£mhx. SÔ¨÷£mk¨ £vÄPÒ u¸P.  

Or 

 (b) The following of is the Balance Sheet of Arun, Babu, 

Cheran and David on 31.12.94. They shared profits 

and losses in the ratio of 4 : 3 : 2 : 1. 

Liabilities Rs. Assets Rs. 

Capitals:  Fixed assets 20,000

 Arun 15,000 Current assets 6,000

 Babu 10,000 Goodwill 5,000

 Cheran 1,500 David’s capital 500

Sundry creditors 5,000  

 31,500  31,500
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  David has no separate assets and liabilities. The 
partners decided to dissolve the business. Fixed 
assets realised Rs. 15,000 and current assets 
realised Rs. 5,000. The goodwill is valueless. 
Realisation expenses amount to Rs. 1,500. Cheran 
can contribute only Rs. 250 from his separate 
resources. Prepare necessary accounts according to 
Garner Vs. Murray assuming that both Cheran and 
David have become insolvent. 

  31.12.94 AßÖ A¸s, £õ¦, ÷\μß ©ØÖ® ÷hÂm 
BQ÷¯õ›ß C¸¨¦{ø» ¤ßÁ¸©õÖ. AÁºPÒ  
4 : 3 : 2 : 1 GßÓ ÂQuzvÀ »õ£ |èhzøu¨ £Qº¢x 
öPõshÚº.  

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

‰»uÚ® :  {ø»¯õÚ ö\õzxUPÒ 20,000

 A¸s 15,000 |h¨¦ ö\õzx 6,000

 £õ¦ 10,000 |Àö»sn® 5,000

 ÷\μß 1,500 ÷hÂm ‰»uÚ®  500

\sm› 
Qöμimhºì 

 
5,000 

 

 31,500  31,500

  ÷hÂmiØS uÛ ö\õzxUPÒ ©ØÖ® ö£õÖ¨¦PÒ 
CÀø». TmhõÎPÒ ÁoPzøu Pø»UP •iÄ 
ö\´uÚº. {ø»¯õÚ ö\õzxUPÒ ¹. 15,000 ©ØÖ® 
uØ÷£õøu¯ ö\õzxUPÒ ¹. 5,000 |Àö»sn® 
©v¨£ØÓx. EnºuÀ ö\»ÄPÒ ¹. 1,500. ÷\μß 
£[PÎUP AÁμx uÛ Buõμ[PÎÀ C¸¢x ¹. 250. 

PõºÚº Vs £i ÷uøÁ¯õÚ PnUSPøÍ u¯õº 
ö\´¯Ä®.  ÷\μß ©ØÖ® ÷hÂm BQ¯ C¸Á¸® 
vÁõ»õQÂmhuõP •º÷μ P¸xQÓõº.  
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15. (a) A,B,C Share profits in proportion of 
3
1

,
2
1

 and 
6
1

. 

Their Balance sheet is as follows: 
Liabilities Rs. Assets Rs. 

A’s Capital 60,000 Assets (Less liabilities) 1,60,000

B’s Capital 60,000  

C’s Capital 40,000  

 1,60,000  1,60,000

  The Partnership is dissolved and thee assets are 
realized as follows: 

  First realization Rs. 20,000, second realization  
Rs. 30,000, Third and final realization Rs.50,000. 

  Prepare a statement showing how the distribution 
should be made. 

  A, B, C £[S »õ£® 
3
1

,
2
1

 ©ØÖ® 
6
1

 ÂQuzvÀ 

EÒÍx. AÁØÔß C¸¨¦{ø» ¤ßÁ¸©õÖ.  
ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

A’s ‰»uÚ® 60,000 ö\õzxUPÒ (SøÓÁõÚ 1,60,000

B’s ‰»uÚ® 60,000 ö£õÖ¨¦PÒ) 

C’s ‰»uÚ® 40,000  

 1,60,000  1,60,000

  Tmhõsø© Pø»UP¨£mhx ©ØÖ® E[PÎß 
ö\õzxUPÒ ¤ßÁ¸©õÖ Enμ¨£kQßÓÚ.  

  •uÀ EnºuÀ ¹. 20,000, CμshõÁx EnºuÀ  
¹. 30,000, ‰ßÓõÁx ©ØÖ® CÖv EnºuÀ  
¹. 50,000.  

  Â{÷¯õP® GÆÁõÖ ö\´¯¨£h ÷Ásk® Gß£øuU 
Põmk® AÔUøPø¯z u¯õ›UPÄ®.   

Or 
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 (b) What do you understand by ‘Piece meal 
distribution’? Explain the method of making such 
distribution.  

  xskPÍõP Â{÷¯õ® Gß£uß ‰»® }[PÒ GßÚ 
¦›¢xöPõÒQÕºPÒ? AzuøP¯ Â{÷¯õP® ö\´²® 
•øÓø¯ ÂÍUS[PÒ.  

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. From the following balance sheet of A and B, calculate 
the interest on capital at 5% p.a. for the year ending 31st 
December 1996. 

 Balance sheet as on 31.12.1996 
Liabilities Rs. Assets Rs. 

A’s capital 20,000 Sundry assets 42,000
B’s capital 16,000 Drawings ‘A’ 2,000
Profit and Loss  
Appropriation A/c 1996

8,000  

 44,000  44,000

 During the year 1996, A’s drawings were Rs. 2,000 and 
B’s drawings Rs. 6,000. Profit during the year 1996 were 
Rs. 12,000. 

  A ©ØÖ® B Cß ¤ßÁ¸® C¸¨¦{ø»U SÔ¨¤¼¸¢x, 
i\®£º 31, 1996 CÀ •iÁøh²® BsiØPõÚ 
‰»uÚzvß «uõÚ Ámiø¯ 5% p.a CÀ PnUQk[PÒ. 

31.12.1996CÀ C¸¨¦ {ø» 
ö£õÖ¨¦PÒ  ¹. ö\õzxUPÒ  ¹. 

A’ß ‰»uÚ® 20,000 £Ø£» ö\õzxUPÒ 42,000
B’ß ‰»uÚ® 16,000 Áøμ£h[PÒ ‘A’ 2,000
C»õ£® ©ØÖ® CÇ¨¦  
JxURk P/S & 1996 

8,000  

 44,000  44,000

 1996B® BsiÀ, ACß Áøμ£h[PÒ ¹ 2,000 ©ØÖ® 
BCß Áøμ£h[PÒ ¹. 6,000. 1996 B® BsiÀ »õ£® 
¹. 12,000. 
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17. A and B are partners sharing profits in the ration of 3:2.  
‘C’ is admitted and new profits sharing ratio is 2:2:1.  
C brings in cash Rs. 8,000 for capital and Rs. 2,000 for 
goodwill. The Balance Sheet of A and B is as follows: 

Liabilities Rs. Assets Rs. 

Capitals:  Goodwill 2,500

A 12,000 Assets 17,500

B 8,000  

   

 20,000  20,000

 Give journal entries and prepare Balance sheet of the 
new firm.  

 A ©ØÖ® B BQ¯øÁ £[SuõμºPÒ 3:2 ‘C’ ÂQuzvÀ 
»õ£zøu¨ £Qº¢x öPõÒQßÓÚ, ÷©¾® ¦v¯ »õ£¨ 
£QºÄ ÂQu® 2:2:1, öμõUP©õP‰»uÚzvØS ¹. 8,000 

©ØÖ® ö|Àö»snzvØS ¹. 2,000. A ©ØÖ® B Cß 
C¸¨¦{ø» ¤ßÁ¸©õÖ.  

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

‰»uÚ®  |Àö»sn® 2,500

A 12,000 ö\õzxUPÒ 17,500

B 8,000  
   

 20,000  20,000

 áºÚÀ EÒÏkPøÍ öPõkzx ¦v¯ {ÖÁÚzvß 
C¸¨¦{ø»z uõøÍz u¯õ›UPÄ®.  

18. Describe the different modes or ways in which a 
partnership firm may be dissolved. 

 J¸ Tmhõsø© {ÖÁÚ® Pø»UP¨£hUTi¯ £À÷ÁÖ 
•øÓPÒ AÀ»x ÁÈPøÍ ÂÁ›UPÄ®.  
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19. The following is the position of two firms X & Y and  
C & D which are taken over by X, Y, C, D Ltd. 

Liabilities XY   CD Assets  XY CD 

 Rs.  Rs.  Rs. Rs. 

Capital :    Goodwill  30,000 – 

X 50,000  – Fixed assets  80,000 2,00,000

Y 50,000  – Current assets 60,000 1,50,000

C –  80,000 Cash  10,000 40,000

D –  1,20,000 P and L a/c 20,000 –

Creditors  60,000  1,60,000  

B/P 40,000  30,000  

 2,00,000  3,90,000  2,00,000 3,90,000

  The new company took over fixed assets and current 
assets at book values and agreed to take over the B/P 
also. Goodwill of XY is considered worthless. Compute 
purchase price payable to the vendors. 

 X, Y, C, D ¼m&BÀ GkUP¨£mh X & Y ©ØÖ® C & D 
BQ¯ Cμsk {ÖÁÚ[PÎß {ø» ¤ßÁ¸©õÖ.  

ö£õÖ¨¦PÒ XY   CD ö\õzxUPÒ XY CD 

 ¹.  ¹.  ¹. ¹. 

‰»uÚ® :    |Àö»sn® 30,000 – 

X 50,000  – {ø»¯õÚ ö\õzxUPÒ 80,000 2,00,000

Y 50,000  – |h¨¦ ö\õzx  60,000 1,50,000

C –  80,000 £n® 10,000 40,000

D –  1,20,000 P ©ØÖ® L a/c 20,000 –
Phß öPõkzuÁºPÒ 60,000  1,60,000  

B/P 40,000  30,000  

 2,00,000  3,90,000  2,00,000 3,90,000

 ¦v¯ {ÖÁÚ® {ø»¯õÚ ö\õzxUPÒ ©ØÖ® uØ÷£õøu¯ 
ö\õzxUPøÍ ¦zuP ©v¨¦PÎÀ GkzxU öPõshx ©ØÖ® 
XY Cß |Àö»sn•® ©v¨£ØÓuõPU P¸u¨£kQÓx. 
ÂØ£øÚ¯õÍ¸US ö\¾zu ÷Ási¯ öPõÒ•uÀ 
Âø»ø¯ PnUQk[PÒ.  
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20. The following is the Balance Sheet of X, Y and Z as at 
30.12.94 

Liabilities Rs. Assets Rs. 

Capital  Plant and machinery 50,000

X 75,000 Land and Building 1,00,000

Y 22,500 Stock 20,000

Z 67,500 Debtors 70,000

Y’s loan 13,000  

Creditors 62,000  

 2,40,000  2,40,000

 On the above date, they decided to dissolve the firm and 
to repay the amounts due to partners as and when the 
assets were realized viz. 

 Rs. 

I Realisation 45,000 

II Realisation 1,09,500 

III Realisation 70,500 

 Prepare the statement showing how the distribution 
should be made. 

  30.12.94 AßÖ X, Y ©ØÖ® Z Cß C¸¨¦ {ø»U SÔ¨¦ 
¤ßÁ¸©õÖ 

ö£õÖ¨¦PÒ ¹ ö\õzxUPÒ ¹ 

‰»uÚ® :  Bø» ©ØÖ® C¯¢vμ® 50,000

X 75,000 {»® ©ØÖ® Pmih® 1,00,000

Y 22,500 C¸¨¦ 20,000

Z 67,500 PhÚõÎPÒ 70,000

Y&ß Phß 13,000  

PhÜ¢÷uõº 62,000  

 2,40,000  2,40,000
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 ÷©ØTÔ¯ ÷uv°À, AÁºPÒ {ÖÁÚzøu Pø»UP •iÄ 
ö\´uÚº ©ØÖ® ö\õzxUPÒ øPÁμ¨ ö£ØÓx® 
£[SuõμºPÐUS ö\¾zu ÷Ási¯ öuõøPPøÍ v¸¨¤a 
ö\¾zu •iÄ ö\´uÚº 

 ¹. 

I EnºuÀ 45,000 

II EnºuÀ 1,09,500 

III EnºuÀ 70,500 

 Â{÷¯õP® GÆÁõÖ ö\´¯¨£h ÷Ásk® Gß£øuU 
Põmk® AÔUøPø¯z u¯õ›UPÄ®.  

———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What are the qualifications required for the appointment 

of a director in a company? 

 J¸ {ÖÁÚzvÀ C¯US|μõP {¯ªUP¨£kÁuØSz 

÷uøÁ¯õÚ uSvPÒ GßÚ? 

2. Who are “Independent Directors”? 

 “_u¢vμ C¯US|ºPÒ” ¯õº? 

3. What are the types of company meetings? 

 {ÖÁÚ Tmh[PÎß ÁøPPÒ GßÚ? 

4. Define “Prevention of Oppression and Mismanagement”. 

 “AhUS•øÓ ©ØÖ® uÁÓõÚ ÷©»õsø©” – 

Áøμ¯ÖUPÄ®. 

Sub. Code 
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5. List the duties of directors in a company. 

 J¸ {ÖÁÚzvÀ C¯US|ºPÎß Phø©PøÍ £mi¯¼kP. 

6. Can a director be removed from office? If yes, under what 

circumstances? 

 J¸ C¯USÚøμ £uÂ°À C¸¢x }UP •i²©õ? B® 

GÛÀ, G¢u `Ì{ø»°À? 

7. Mention the responsibilities of a Managing Director in a 

company. 

 J¸ {ÖÁÚzvÀ {ºÁõP C¯US|›ß ö£õÖ¨¦PøÍU 

SÔ¨¤hÄ®. 

8. What is the procedure for holding an Extraordinary 

General Meeting (EGM)? 

 J¸ A\õuõμn ö£õxU Tmhzøu (EGM) |hzxÁuØPõÚ 

|øh•øÓ GßÚ? 

9. What is “Winding up of Companies?  

 “{ÖÁÚ[PøÍ ‰kuÀ” GßÓõÀ GßÚ?  

10. What are the secretarial duties concerning accounts and 

audit in a company? 

 J¸ {ÖÁÚzvÀ PnUSPÒ ©ØÖ® uoUøP öuõhº£õÚ 

ö\¯»P Phø©PÒ GßÚ? 
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 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Discuss the rights of directors in a company and 
how they contribute to decision-making. 

  J¸ {ÖÁÚzvÀ C¯US|ºPÎß E›ø©PÒ ©ØÖ® 
•iöÁk¨£vÀ AÁºPÒ GÆÁõÖ £[PÎUQÓõºPÒ 
Gß£øu¨ £ØÔ ÂÁõvUPÄ®. 

Or 

 (b) What are the duties and liabilities of directors 
towards shareholders? 

  £[SuõμºPÐUS C¯US|ºPÎß Phø©PÒ ©ØÖ® 
ö£õÖ¨¦PÒ GßÚ? 

12. (a) Explain the appointment and disqualification of a 
Managing Director in a company. 

  J¸ {ÖÁÚzvß {ºÁõP C¯US|›ß {¯©Ú® 
©ØÖ® uSv }UP® £ØÔ ÂÍUPÄ®. 

Or 

 (b) Describe the concept of “Management 
Remuneration” and its regulation in the Indian 
context. 

  C¢v¯ `Ç¼À “÷©»õsø© Fv¯®” ©ØÖ® Auß 
JÊ[S•øÓø¯ ÂÁ›UPÄ®. 

13. (a) Compare and contrast Board Meetings and Annual 
General Meetings (AGMs) in a company. 

  J¸ {ÖÁÚzvÀ Áõ›¯U Tmh[PÒ ©ØÖ® 
Á¸hõ¢vμ ö£õxU Tmh[PøÍ (AGMs) J¨¤hÄ®. 

Or 

 (b) What are the essentials of a valid company 

meeting? 

  ö\À¾£i¯õS® {ÖÁÚU TmhzvØS 

CßÔ¯ø©¯õux GßÚ? 
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14. (a) Discuss the process of inspection and investigation 

of company accounts and records. 

  {ÖÁÚzvß PnUSPÒ ©ØÖ® £vÄPÎß B´Ä 

©ØÖ® Â\õμøn ö\¯À•øÓ £ØÔ ÂÁõvUPÄ®. 

Or 

 (b) Explain how “Prevention of Oppression and 

Mismanagement” safeguards the interests of 

shareholders. 

  “AhUS•øÓ ©ØÖ® uÁÓõÚ ÷©»õsø©” GÆÁõÖ 

£[SuõμºPÎß |»ßPøÍ¨ £õxPõUQÓx Gß£øu 

ÂÍUSP. 

15.  (a) Differentiate between voluntary winding up and 

compulsory winding up of companies. 

  {ÖÁÚ[PÎß ußÚõºÁ ‰kuÀ ©ØÖ® Pmhõ¯ 

‰kuÀ BQ¯ÁØÖUS Cøh÷¯ EÒÍ ÷ÁÖ£õmøh¨ 

£ØÔ TÖP. 

Or 

 (b) Describe the secretarial duties involved in the 

process of winding up a company. 

  J¸ {ÖÁÚzøu ‰k® ö\¯À£õmiÀ EÒÍ ö\¯»P 

Phø©PøÍ ÂÁ›UPÄ®. 
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Explain the appointment, rights, and responsibilities of 

directors in a public limited company. 

 ö£õx Áøμ¯ÖUP¨£mh {ÖÁÚzvÀ C¯US|ºPÎß 

{¯©Ú®, E›ø©PÒ ©ØÖ® ö£õÖ¨¦PøÍ ÂÍUPÄ®. 

17. Discuss the role of a Whole Time Director in a private 

company and the legal provisions related to their 

appointment and removal. 

 J¸ uÛ¯õº {ÖÁÚzvÀ •Ê ÷|μ C¯US|›ß £[S 

©ØÖ® AÁºPÎß {¯©Ú® ©ØÖ® }UP® öuõhº£õÚ 

\mhÂvPÒ £ØÔ ÂÁõvUPÄ®. 

18. Analyze the legal framework and procedures for 

conducting Annual General Meetings (AGMs) and 

Extraordinary General Meetings (EGMs). 

 Á¸hõ¢vμ ö£õxU Tmh[PÒ (AGMs) ©ØÖ® A\õuõμn 

ö£õxU Tmh[PÒ (EGMs) |hzxÁuØPõÚ \mh 

Pmhø©¨¦ ©ØÖ® |øh•øÓPøÍ £S¨£õ´Ä ö\´P. 

19. Evaluate the importance of proper accounts and audit in 

ensuring corporate transparency and compliance with 

statutory requirements. 

 Põº¨£÷μm öÁÎ¨£øhz ußø© ©ØÖ® \mhŸv¯õÚ 

÷uøÁPÐUS Cn[SÁøu EÖv ö\´ÁvÀ •øÓ¯õÚ 

PnUSPÒ ©ØÖ® uoUøP°ß •UQ¯zxÁzøu 

©v¨¤kP.  
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20. Elaborate on the various methods of winding up of 

companies and the implications for shareholders, 

creditors, and employees. 

 {ÖÁÚ[PøÍ ‰kÁuØPõÚ £À÷ÁÖ •øÓPÒ ©ØÖ® 

£[SuõμºPÒ, Phß ÁÇ[S£ÁºPÒ ©ØÖ® 

£o¯õÍºPÐUS HØ£k® uõUP[PÒ £ØÔ Â›ÁõPU TÖP. 

  
———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What are the characteristics of statistical units? 

 ¦ÒÎÂÁμ A»SPÎß £s¦PÒ GßÚ? 

2. What are the methods of collecting primary data? 

 •ußø© uμÄPøÍ ÷\P›US® •øÓPÒ GßÚ? 

3. Define the properties of Arithmetic mean. 

 GsPou \μõ\›°ß £s¦PøÍ Áøμ¯ÖUPÄ® 

4. Calculate mean from the following data. 

R. Nos : 1 2 3 4 5 6 7 8 9 10

Marks : 40 50 55 78 58 60 73 35 43 48

 ¤ßÁ¸® uμÄPÎ¼¸¢x \μõ\›ø¯U PnUQkP.  

£vÄ Gs : 1 2 3 4 5 6 7 8 9 10

©v¨ö£s : 40 50 55 78 58 60 73 35 43 48
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5. Find the range of weights of 7 students from the 
following: 27, 30, 35, 36, 38, 40, 43. 

 ¤ßÁ¸® 7 ©õnÁºPÎß Gøh Áμ®ø£ 27, 30, 35, 36, 
38, 40, 43&¼¸¢x PshÔ¯Ä®. 

6. Find Karl Pearson’s coefficient of Skewness from the 
given data 

Measure Place

Mean 256.5

Median 201.0

Standard Deviation 215.4
 öPõkUP¨£mh uμÄPÎ¼¸¢x PõμÀ ¤¯º\Ûß ÁøÍÄ 

SnzøuU PshÔ¯Ä® 

   

AÍÄ Ch®

\μõ\› 256.5

Cøh{ø» 201.0

uμ Â»UP® 215.4

7. List the components of time series. 

 Põ»z öuõhº Á›ø\°ß £S¨£õ´øÁ £mi¯¼kP. 

8. Write the measurement of Cyclical variation. 

 _ÇØ] ©õÖ£õkPÎß AÍÃk £ØÔ GÊxP. 

9. Define independent and dependent events. 

 \õº£ØÓ ©ØÖ® \õº¦ {PÌÄPøÍ Áøμ¯ÖUPÄ®. 

10. Define Conditional Probability. 

 {£¢uøÚ {PÌuPÂøÚ Áøμ¯ÖUPÄ®. 



S–2217 

  

  3

 Part B  (5 × 5 = 25) 

Answer all questions, Choosing either (a) or (b). 

11. (a) Explain the functions of Statistics. 

  ¦ÒÎ°¯¼ß ö\¯À£õkPøÍ¨ £ØÔ ÂÁ›. 

Or 

 (b) Explain the roles of Tabulation. 

  AmhÁøn°ß ÂvPøÍ ÂÁ›UP. 

12. (a) Find out the missing values of the variate for the 
following distribution whose mean is 31.87  

x 12 20 27 33 ? 54

y 8 16 48 90 30 8 

  ¤ßÁ¸® Â{÷¯õPzvØPõÚ ©õÖ£õmiß Âk£mh 
©v¨¦PøÍU PshÔ¯Ä®. Auß \μõ\› 31.87 BP 
C¸US® ÷£õx 

x 12 20 27 33 ? 54

y 8 16 48 90 30 8 

Or 

 (b) Calculate mode from the following data 

   
Marks No. of students Marks No. of students 

above 0 80 Above 60 28 

           10 77            70 16 

           20 72            80 10 

           30 65           90 8 

           40 55         100 0 

            50 43           –  – 
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 ¤ßÁ¸® uμÄPÎ¼¸¢x •PmiøÚU PnUQkP 

©v¨ö£s ©õnÁºPÒ 
GsoUøP 

©v¨ö£s ©õnÁºPÎß 
GsoUøP 

0 US ÷©À 80 60 US ÷©À 28 

10 77 70 16 

20 72 80 10 

30 65 90 8 

40 55 100 0 

50 43 – – 

13. (a) Find the standard deviation from the following data  

Age Under 10 20 30 40 50 60 70 80 

No. of person 
dying 

15 30 53 75 100 110 115 125

  ¤ßÁ¸® uμÄPÎ¼¸¢x uμÂ»UPzvøÚU 
PshÔ¯Ä® 

Á¯xUS RÌ 10 20 30 40 50 60 70 80 

CÓUS® |£ºPÎß 
GsoUøP 

15 30 53 75 100 110 115 125

Or 

 (b) Explain Karl Pearson’s  and Bowley’s coefficient of 
Skewness. 

  PõμÀ ¤¯º\ß ©ØÖ® ö£Í÷»‘ß ÁøÍÄ Snzøu 
ÂÁ›UP. 

14. (a) Write utility of time series analysis. 

  Põ» Á›ø\ B´Âß £¯ß£õkPÒ £ØÔ GÊxP. 

Or 
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 (b) Prepare Index number (1971 = 100) of prices of a 
commodity from the following data 

Year 1971 1972 1973 1974 1975 1976 1977

Price 40 42 35 33 39 40 42 

Year 1978 1979 1980     

Price 48 55 70     

 ¤ßÁ¸® uμÄPÎ¼μ¢x JÆöÁõ¸ ö£õ¸Îß Âø» 
SÔ±mk Gsøn (1971 = 100) u¯õº ö\´¯Ä®  

Bsk 1971 1972 1973 1974 1975 1976 1977

Âø» 40 42 35 33 39 40 42 

Bsk 1978 1979 1980     

Âø» 48 55 70     

15.  (a) Two cards are drawn at random from a well–
shuffled pack of 52 cards. What is the probability 
that : 

  (i) both are aces 

(ii) both are red 

(iii) at least one is a ace? 
  |ßS P»UP¨£mh 52 ^mkPÎß öuõS¨¤¼¸¢x 

Cμsk AmøhPÒ ^μØÓ •øÓ°À GkUP¨£kQßÓÚ 

(i) Cμsk÷© Hì 

  (ii) Cμsk÷© ]Á¨¦ 

  (iii) SøÓ¢u £m\® JßÖ Hì BP C¸¨¤ß Auß 
{PÌuPÄ ¯õx? 

Or 

 (b) A bag contains 10 white and 6 black balls. 4 balls 
are successively drawn out and not replaced. What 
is the probability that they are alternatively of 
different colours? 

  J¸ ø£°À 10 öÁÒøÍ ©ØÖ® 6 PÖ¨¦ £¢xPÒ 
EÒÍÚ. 4 £¢xPÒ Akzukzu ©õØÓ® CÀ»õ©À 
GkUP¨£kQßÓÚ. ©õÓõP öÁÆ÷ÁÖ Ásn[PÎÀ 
£¢xPÒ C¸¨£uØPõÚ {PÌuPÄ GßÚ? 
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 Part C  (3 × 10 = 30) 

Answer any Three questions. 

16. Explain the methods of collecting primary data and 
secondary data. 

 •ußø© uμÄ ©ØÖ® Cμshõ® {ø» uμÄ ÷\P›¨¦ 
•øÓPøÍ ÂÍUSP. 

17. Calculate the values of the median quartile one and 
quartile three from the following 

Value frequency value frequency

4-6 2 18-20 10 

6-8 5 20-22 7 

8-10 4 22-24 6 

10-12 11 24-26 4 

12-14 11 26-28 3 

14-16 11 28-30 1 

16-18 13 – – 

 ¤ßÁ¸ÁÚÁØÔ¼¸¢x •uÀ PõÀ©õÚ® ©ØÖ® ‰ßÓõ® 
PõÀ©õÚzvØPõÚ Cøh{ø» ©v¨ø£U PnUQhÄ® 

©v¨¦ Aø»öÁs ©v¨¦ Aø»öÁs

4-–6 2 18–-20 10 

6–-8 5 20–-22 7 

8–-10 4 22–-24 6 

10–-12 11 24–-26 4 

12–-14 11 26–-28 3 

14–-16 11 28–-30 1 

16–-18 13 – – 
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18. From the following data of age of employees. Calculate 

Karl Pearson’s coefficient of skewness and interpret the 

result. 

Age below (yrs) 25 30 35 40 45 50 55 

No. of employees 8 20 40 65 80 92 100

 FÈ¯ºPÎß Á¯x SÔzx ¤ßÁ¸® uμÄPÎ¼¸¢x  

PõμÀ ¤¯º\Ûß ÁøÍÄ SnPzøuU PnUQmk •iøÁ 

ÂÍUPÄ®. 

SøÓÁõÚ Á¯x (Á¸h®) 25 30 35 40 45 50 55 

FÈ¯ºPÎß GsoUøP 8 20 40 65 85 92 100

19. Obtain the stright line trend equation and tabulate 

against each year after estimation of the trend and short–

term fluctuation: 

Year 1977 1961 1962 1963 1964 1965 1966

Value 380 400 650 720 690 620 670 

Year 1967 1968      

Value 950 1040      

 ÷|º÷Põmk ÷£õUS \©ß£õmøh¨ ö£ÓÄ® ©ØÖ® ÷£õUS 

©ØÖ® SÖQ¯ Põ» HØÓ CÓUP[PÎß ©v¨¥miØS¨ ¤ÓS 

JÆöÁõ¸ BsiØPõÚ AmhÁøn¨£kzuÄ® 

Bsk 1977 1961 1962 1963 1964 1965 1966

©v¨¦ 380 400 650 720 690 620 670 

Bsk 1967 1968      

©v¨¦ 950 1040      
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20. Two dices are thrown. Find the probability that  

 (a) The first dice shown 6 

 (b) The total of the number on the dice is greater than 8 

 (c) The total of the number on the dice is 13 

 (d) both the dice shown that same number 

 (e) the sum of the number shown by the dice is less 
than 5 

 Cμsk £PøhPÒ Ã\¨£k® ÷£õx HØ£k® {PÌuPøÁU 
PshÔ¯Ä® 

 (A) •uÀ £Pøh 6 IU PõmkQÓx 

 (B) £Pøh°ß ö©õzu GsoUøP 8&I Âh AvP©õP 
EÒÍx 

 (C) £Pøh°ß ö©õzu GsoUøP 13 BS® GÛÀ  

 (D) Cμsk £PøhPÐ® K÷μ GsønU PõmiÚõÀ 

 (E) £PøhPÍõÀ Põmh¨£k® Gsoß Tmkz öuõøP  
  5–US® SøÓÁõP C¸¢uõÀ. 

 
———————— 


